Units Catalog

The 3D Utility

__a—""’ff

- e
3 R g
TR TR
B R ]
' o

www.the3DUtility.com

Knoxville, TN




Section I

Condulets

Condulets

Condulets



CdIBu-3
Condulet, Bushing, 3"

CdIF8C-1.5
Condulet, Form 8C, 1.5"

CdIF8C-1
Condulet, Form 8C, 1"

CdIF8C-2.5
Condulet, Form 8C, 2.5"

CdIF8C-2
Condulet, Form 8C, 2"

CdIF8C-3
Condulet, Form 8C, 3"

Condulets

Condulets



CdIF8E-1.5
Condulet, Form 8E, 1.5"

CdIF8E-1
Condulet, Form 8E, 1"

CdIF8E-2.5
Condulet, Form 8E, 2.5"

CdIF8E-2
Condulet, Form 8E, 2"

CdIF8LB-1.5
Condulet, Form 8LB, 1.5"

CdIF8LB-1
Condulet, Form 8LB, 1"

Condulets

Condulets



CdIF8LB-2.5
Condulet, Form 8LB, 2.5"

CdIF8LB-2
Condulet, Form 8LB, 2"

CdIF8LL-1.5
Condulet, Form 8LL, 1.5"

CdIF8LL-1
Condulet, Form 8LL, 1"

CdIF8LL-2.5
Condulet, Form 8LL, 2.5"

CdIF8LL-2
Condulet, Form 8LL, 2"

Condulets

Condulets



CdIF8LR-1.5
Condulet, Form 8LR, 1.5"

CdIF8LR-1
Condulet, Form 8LR, 1"

CdIF8LR-2.5
Condulet, Form 8LR, 2.5"

CdIF8LR-2
Condulet, Form 8LR, 2"

CdIF8T-1.5
Condulet, Form 8T, 1.5"

CdIF8T-1
Condulet, Form 8T, 1"

Condulets

Condulets



CdIF8T-2.5 CdIF8T-2
Condulet, Form 8T, 2.5" Condulet, Form 8T, 2"
| —
CdIF8X-1.5 CdIF8X-1
Condulet, Form 8X, 1"

Condulet, Form 8X, 1.5"

CdIF8X-2
Condulet, Form 8X, 2"

Condulets

Condulets



Section 11

Connectors

Connectors

Connectors



CnnBSBIAI2-3BC
Connector, Bus Support, Bolted, Aluminum, 2", 3BC

CnnBSBIAI2.5-3BC
Connector, Bus Support, Bolted, Aluminum, 2.5", 3BC

CnnBSBIAI2.5
Connector, Bus Support, Bolted, Aluminum, 2.5"

CnnBSBIAI2
Connector, Bus Support, Bolted, Aluminum, 2"

CnnBSBIAI3-3BC
Connector, Bus Support, Bolted, Aluminum, 3", 3BC

CnnBSBIAI3
Connector, Bus Support, Bolted, Aluminum, 3"

8 Connectors

Connectors



CnnBSBIAI4-3BC
Connector, Bus Support, Bolted, Aluminum, 4", 3BC

CnnBSBIAIl4

Connector, Bus Support, Bolted, Aluminum, 4"

CnnBSBIAI5-3BC
Connector, Bus Support, Bolted, Aluminum, 5", 3BC

CnnBSBIAIS

Connector, Bus Support, Bolted, Aluminum, 5"

CnnBSBIAI6-3BC
Connector, Bus Support, Bolted, Aluminum, 6", 3BC

CnnBSBIAI6

Connector, Bus Support, Bolted, Aluminum, 6"

Connectors

Connectors



CnnBSCaAl600-1250-3BC
Connector, Bus Support, Cable, Aluminum, 600",

1250-3BC

CnnBSCaAl600-1250
Connector, Bus Support, Cable, Aluminum, 600", 1250

CnnBSCaCu2-550-750
Connector, Bus Support, Cable, Copper, 2", 550-750

CnnBSCaCu500-2000-3BC
Connector, Bus Support, Cable, Copper, 500",
2000-3BC

CnnBSCaCu500-2000
Connector, Bus Support, Cable, Copper, 500", 2000

CnnBSCpAI2-3BC
Connector, Bus Support, Coupler, Aluminum, 2", 3BC

10 Connectors

Connectors



CnnBSCpAI2.5-3BC
Connector, Bus Support, Coupler, Aluminum, 2.5", 3BC

CnnBSCpAI2.5
Connector, Bus Support, Coupler, Aluminum, 2.5"

CnnBSCpAI2
Connector, Bus Support, Coupler, Aluminum, 2"

CnnBSCpAI3-3BC
Connector, Bus Support, Coupler, Aluminum, 3", 3BC

CnnBSCpAI3
Connector, Bus Support, Coupler, Aluminum, 3"

CnnBSCpAl4-3BC
Connector, Bus Support, Coupler, Aluminum, 4", 3BC

1 Connectors

Connectors



CnnBSCpAl4
Connector, Bus Support, Coupler, Aluminum, 4"

CnnBSEXxAI2-3BC
Connector, Bus Support, Expansion, Aluminum, 2",

3BC

CnnBSEXxAI2.5-3BC
Connector, Bus Support, Expansion, Aluminum, 2.5",
3BC

CnnBSEXxAI2.5
Connector, Bus Support, Expansion, Aluminum, 2.5"

CnnBSEXAI2
Connector, Bus Support, Expansion, Aluminum, 2"

CnnBSEXxAI3-3BC
Connector, Bus Support, Expansion, Aluminum, 3",

3BC

12 Connectors

Connectors



CnnBSEXAI3
Connector, Bus Support, Expansion, Aluminum, 3"

CnnBSEXxAI4-3BC
Connector, Bus Support, Expansion, Aluminum, 4",

3BC

CnnBSExAl4
Connector, Bus Support, Expansion, Aluminum, 4"

CnnBSEXAI5
Connector, Bus Support, Expansion, Aluminum, 5"

CnnBSEXAI6
Connector, Bus Support, Expansion, Aluminum, 6"

CnnBSSIAI2-3BC
Connector, Bus Support, Slip, Aluminum, 2", 3BC

13 Connectors

Connectors



CnnBSSIAI2.5-3BC
Connector, Bus Support, Slip, Aluminum, 2.5", 3BC

CnnBSSIAI2.5
Connector, Bus Support, Slip, Aluminum, 2.5"

CnnBSSIAI2
Connector, Bus Support, Slip, Aluminum, 2"

CnnBSSIAI3-3BC
Connector, Bus Support, Slip, Aluminum, 3", 3BC

CnnBSSIAI3
Connector, Bus Support, Slip, Aluminum, 3"

CnnBSSIAl4-3BC
Connector, Bus Support, Slip, Aluminum, 4", 3BC

14 Connectors

Connectors



CnnBSSIAI4
Connector, Bus Support, Slip, Aluminum, 4"

CnnBSVIAI2-3BC
Connector, Bus Support, Vertical, Aluminum, 2", 3BC

CnnBSVIAI2.5-3BC
Connector, Bus Support, Vertical, Aluminum, 2.5", 3BC

CnnBSVIAI2.5
Connector, Bus Support, Vertical, Aluminum, 2.5"

CnnBSVIAI2
Connector, Bus Support, Vertical, Aluminum, 2"

CnnBSVIAI3-3BC
Connector, Bus Support, Vertical, Aluminum, 3", 3BC

15 Connectors

Connectors



CnnBSVIAI3
Connector, Bus Support, Vertical, Aluminum, 3"

CnnBSVIAI4-3BC
Connector, Bus Support, Vertical, Aluminum, 4", 3BC

CnnBSVIAI4
Connector, Bus Support, Vertical, Aluminum, 4"

CnnCmCFAI336AC
Connector, Compression, Cable to Flat, Aluminum,

336AC"

CnnCmCFAI336AC@15
Connector, Compression, Cable to Flat, Aluminum,

336AC"@15°

CnnCmCFAI636AC
Connector, Compression, Cable to Flat, Aluminum,

636AC"

16 Connectors

Connectors



CnnCmCFAI636AC@15
Connector, Compression, Cable to Flat, Aluminum,

636AC"@15°

CnnCmCFAI954AC
Connector, Compression, Cable to Flat, Aluminum,

954AC"

CnnCmCFAI954AC@15
Connector, Compression, Cable to Flat, Aluminum,

954AC"@15°

CnnCpCCAI-477-795
Connector, Coupler, Cable to Cable, Aluminum,

477-795

CnnCpTCAI2-900-1250
Connector, Coupler, Tube to Cable, Aluminum, 2",

900-1250

CnnCpTCAI2.5-900-1250
Connector, Coupler, Tube to Cable, Aluminum, 2.5",

900-1250

17 Connectors

Connectors



CnnCpTCAI3-900-1250
Connector, Coupler, Tube to Cable, Aluminum, 3",

900-1250

CnnCpTCAI4-350-600
Connector, Coupler, Tube to Cable, Aluminum, 4",

350-600

[

CnnCpTCAI4-900-1250
Connector, Coupler, Tube to Cable, Aluminum, 4",

900-1250

Qs

CnnCpTFAI2.5
Connector, Coupler, Tube to Flat, Aluminum, 2.5"

CnnCpTFAIl4
Connector, Coupler, Tube to Flat, Aluminum, 4"

CnnCpTTAI2.5
Connector, Coupler, Tube to Tube, Aluminum, 2.5"

18 Connectors

Connectors



CnnCpTTAI2.5@45
Connector, Coupler, Tube to Tube, Aluminum,

2.5"@45°

CnnCpTTAI2.5@90
Connector, Coupler, Tube to Tube, Aluminum,

2.5"@90°

CnnCpTTAI2
Connector, Coupler, Tube to Tube, Aluminum, 2"

CnnCpTTAI2@45
Connector, Coupler, Tube to Tube, Aluminum, 2"@45°

CnnCpTTAI2@90
Connector, Coupler, Tube to Tube, Aluminum, 2"@90°

CnnCpTTAI3
Connector, Coupler, Tube to Tube, Aluminum, 3"

19 Connectors

Connectors



CnnCpTTAI3@45
Connector, Coupler, Tube to Tube, Aluminum, 3"@45°

CnnCpTTAI3@90
Connector, Coupler, Tube to Tube, Aluminum, 3"@90°

CnnCpTTAl4
Connector, Coupler, Tube to Tube, Aluminum, 4"

CnnCpTTAI4@45
Connector, Coupler, Tube to Tube, Aluminum, 4"@45°

CnnCpTTAI4@90
Connector, Coupler, Tube to Tube, Aluminum, 4"@90°

CnnCpTTAIS
Connector, Coupler, Tube to Tube, Aluminum, 5"

20 Connectors

Connectors



CnnCpTTAI5@90
Connector, Coupler, Tube to Tube, Aluminum, 5"@90°

CnnCpTTAI6
Connector, Coupler, Tube to Tube, Aluminum, 6"

CnnCpTTAI6@45
Connector, Coupler, Tube to Tube, Aluminum, 6"@45°

CnnCpTTAI6@90
Connector, Coupler, Tube to Tube, Aluminum, 6"@90°

CnnGdCFBz
Connector, Ground, Cable to Flat, Bronze

CnnPGCCAI-395-800
Connector, Parallel Groove, Cable to Cable, Aluminum,

395-800

21 Connectors

Connectors



CnnPGCCCU-4-20
Connector, Parallel Groove, Cable to Cable, Copper,

4-20

CnnPGCCCU-4-300
Connector, Parallel Groove, Cable to Cable, Copper,

4-300

CnnPGCCCU1.25
Connector, Parallel Groove, Cable to Cable, Copper,

1.25"

CnnSrCCCu-750-1000
Connector, Spacer, Cable to Cable, Copper, 750-1000

CnnTeAFAI2.5-2@15
Connector, Tee, A-Frame, Aluminum, 2.5", 2@15°

CnnTeAFAI3-2.5@15
Connector, Tee, A-Frame, Aluminum, 3", 2.5@15°

22 Connectors

Connectors



CnnTeAFAI4-2.5@15
Connector, Tee, A-Frame, Aluminum, 4", 2.5@15°

CnnTeAFAI6-3@15
Connector, Tee, A-Frame, Aluminum, 6", 3@15°

CnnTeCCAI900-1250
Connector, Tee, Cable to Cable, Aluminum, 900", 1250

CnnTeCFAI900-1250
Connector, Tee, Cable to Flat, Aluminum, 900", 1250

CnnTeTCAI1.5-4-250
Connector, Tee, Tube to Cable, Aluminum, 1.5", 4-250

CnnTeTCAI1.5-750-1250
Connector, Tee, Tube to Cable, Aluminum, 1.5",

750-1250

23 Connectors

Connectors



CnnTeTCAI2-2X750-1250
Connector, Tee, Tube to Cable, Aluminum, 2",

2X750-1250

CnnTeTCAI2-750-1250
Connector, Tee, Tube to Cable, Aluminum, 2", 750-1250

CnnTeTCAI2.5-2-750-1250
Connector, Tee, Tube to Cable, Aluminum, 2.5",
2-750-1250

CnnTeTCAIl2.5-4-250
Connector, Tee, Tube to Cable, Aluminum, 2.5", 4-250

CnnTeTCAI2.5-750-1250
Connector, Tee, Tube to Cable, Aluminum, 2.5",

750-1250

CnnTeTCAI3-2X750-1250
Connector, Tee, Tube to Cable, Aluminum, 3",

2X750-1250

24 Connectors

Connectors



CnnTeTCAI3-750-1250
Connector, Tee, Tube to Cable, Aluminum, 3", 750-1250

CnnTeTCAI4-2X750-1250
Connector, Tee, Tube to Cable, Aluminum, 4",

2X750-1250

CnnTeTCAI4-750-1250
Connector, Tee, Tube to Cable, Aluminum, 4", 750-1250

CnnTeTFAI1.5
Connector, Tee, Tube to Flat, Aluminum, 1.5"

CnnTeTFAI2.5
Connector, Tee, Tube to Flat, Aluminum, 2.5"

CnnTeTFAI2
Connector, Tee, Tube to Flat, Aluminum, 2"

25

Connectors

Connectors



CnnTeTFAI3
Connector, Tee, Tube to Flat, Aluminum, 3"

CnnTeTFAl4
Connector, Tee, Tube to Flat, Aluminum, 4"

CnnTeTFAI5
Connector, Tee, Tube to Flat, Aluminum, 5"

CnnTeTFAI6
Connector, Tee, Tube to Flat, Aluminum, 6"

CnnTeTTAI1.5
Connector, Tee, Tube to Tube, Aluminum, 1.5"

CnnTeTTAI2.5-2
Connector, Tee, Tube to Tube, Aluminum, 2.5", 2

26 Connectors

Connectors



CnnTeTTAI2.5-2@15
Connector, Tee, Tube to Tube, Aluminum, 2.5", 2@15°

CnnTeTTAI2.5
Connector, Tee, Tube to Tube, Aluminum, 2.5"

CnnTeTTAI2
Connector, Tee, Tube to Tube, Aluminum, 2"

CnnTeTTAI3
Connector, Tee, Tube to Tube, Aluminum, 3"

CnnTeTTAI4-2.5
Connector, Tee, Tube to Tube, Aluminum, 4", 2.5

CnnTeTTAl4
Connector, Tee, Tube to Tube, Aluminum, 4"

27

Connectors

Connectors



CnnTeTTAIS
Connector, Tee, Tube to Tube, Aluminum, 5"

CnnTeTTAI6
Connector, Tee, Tube to Tube, Aluminum, 6"

CnnTICFAI750-1250@90
Connector, Terminal, Cable to Flat, Aluminum, 750",

1250@90°

CnnTICFAI900-1250
Connector, Terminal, Cable to Flat, Aluminum, 900",

1250

CnnTICFAI900-1250@45
Connector, Terminal, Cable to Flat, Aluminum, 900",

1250@45°

CnnTICFCu-2!0-800
Connector, Terminal, Cable to Flat, Copper, 2/0-800

28 Connectors

Connectors



CnnTICFCu-2X500-2000
Connector, Terminal, Cable to Flat, Copper, 2X500-2000

CnnTICFCu-4!0-1000
Connector, Terminal, Cable to Flat, Copper, 4/0-1000

CnnTICFCu4-250
Connector, Terminal, Cable to Flat, Copper, 4", 250

CnnTIECAI1
Connector, Terminal, End Cap, Aluminum, 1"

CnnTIECAI2.5
Connector, Terminal, End Cap, Aluminum, 2.5"

CnnTIECAI2
Connector, Terminal, End Cap, Aluminum, 2"

29 Connectors

Connectors



CnnTIECAI3
Connector, Terminal, End Cap, Aluminum, 3"

CnnTIECAI4
Connector, Terminal, End Cap, Aluminum, 4"

CnnTIECAIS
Connector, Terminal, End Cap, Aluminum, 5"

CnnTIECAI6
Connector, Terminal, End Cap, Aluminum, 6"

CnnTIExAI2.5

Connector, Terminal, Expansion, Aluminum, 2.5"

CnnTIExAI2

Connector, Terminal, Expansion, Aluminum, 2"

30 Connectors

Connectors



CnnTIExAI3

Connector, Terminal, Expansion, Aluminum, 3"

CnnTIExAI4
Connector, Terminal, Expansion, Aluminum, 4"

CnnTIEXAI5
Connector, Terminal, Expansion, Aluminum, 5"

CnnTIExAI6

Connector, Terminal, Expansion, Aluminum, 6"

CnnTISCCu1.25-410-1000
Connector, Terminal, Stud to Cable, Copper, 1.25",

4/0-1000

CnnTISFAI1.25
Connector, Terminal, Stud to Flat, Aluminum, 1.25"

31 Connectors

Connectors



CnnTISFCu1.25
Connector, Terminal, Stud to Flat, Copper, 1.25"

CnnTISFCu2.5
Connector, Terminal, Stud to Flat, Copper, 2.5"

CnnTISFCu2.5@90
Connector, Terminal, Stud to Flat, Copper, 2.5"@90°

CnnTITFAI1.5
Connector, Terminal, Tube to Flat, Aluminum, 1.5"

CnnTITFAI1.5@90
Connector, Terminal, Tube to Flat, Aluminum, 1.5"@90°

CnnTITFAI2.5
Connector, Terminal, Tube to Flat, Aluminum, 2.5"

32 Connectors

Connectors



CnnTITFAI2
Connector, Terminal, Tube to Flat, Aluminum, 2"

CnnTITFAI3
Connector, Terminal, Tube to Flat, Aluminum, 3"

CnnTITFAI4
Connector, Terminal, Tube to Flat, Aluminum, 4"

CnnTITFAI4@90
Connector, Terminal, Tube to Flat, Aluminum, 4"@90°

CnnTITFAI5
Connector, Terminal, Tube to Flat, Aluminum, 5"

CnnTITFAI6
Connector, Terminal, Tube to Flat, Aluminum, 6"

33 Connectors

Connectors



Section III

Equipment

34

Equipment




AssEquFCCL110
Assembly, Equipment, Fuse Cutout, Current Limiting

Fuse, 110kVBIL

AssEquLAIC-3-12kV
Assembly, Equipment, Lightning Arrestor, Intermediate
Class, 3-12kV

EquBtLA-5X2.5
Equipment, Bracket, Lightning Arrestor, 5X2.5

EquBu110-2000(ABB)
Equipment, Bushing, 110kVBIL, 2000(ABB)

EquBu150-2000(ABB)
Equipment, Bushing, 150kVBIL, 2000(ABB)

EquBu250-2000(ABB)
Equipment, Bushing, 250kVBIL, 2000(ABB)

35 Equipment




EquBu350-2000(ABB)
Equipment, Bushing, 350kVBIL, 2000(ABB)

EquBu350-2000(Mitsubishi)
Equipment, Bushing, 350kVBIL, 2000(Mitsubishi)

EquBu650-2000(ABB)
Equipment, Bushing, 650kVBIL, 2000(ABB)

EquBu750-2000(ABB)
Equipment, Bushing, 750kVBIL, 2000(ABB)

EquCL110
Equipment, Current Limiting Fuse, 110kVBIL

EquCT110(ABB-KOR)
Equipment, Current Trf, 110kVBIL(ABB-KOR)

36 Equipment




EquCT110(ABB-LG)
Equipment, Current Trf, 110kVBIL(ABB-LG)

EquCT110(GE-JCD)
Equipment, Current Trf, 110kVBIL(GE-JCD)

EquCT110(GE-JCW)
Equipment, Current Trf, 110kVBIL(GE-JCW)

EquCT110(GE-JKW)
Equipment, Current Trf, 110kVBIL(GE-JKW)

EquCT150(ABB-KOR)
Equipment, Current Trf, 150kVBIL(ABB-KOR)

EquCT150(ABB-LG)
Equipment, Current Trf, 150kVBIL(ABB-LG)

37

Equipment




EquCT150(GE-JKW)
Equipment, Current Trf, 150kVBIL(GE-JKW)

EquCT250(GE-JKW)
Equipment, Current Trf, 250kVBIL(GE-JKW)

EquCT350(GE-JKW)
Equipment, Current Trf, 350kVBIL(GE-JKW)

EquFC110
Equipment, Fuse Cutout, 110kVBIL

EquLAIC-3-12kV(OB)
Equipment, Lightning Arrestor, Intermediate Class,
3-12kV(OB)

EquLASC-108-120kV(OB)
Equipment, Lightning Arrestor, Station Class,

108-120kV(OB)

38

Equipment




EquLASC-12-15kV(OB)
Equipment, Lightning Arrestor, Station Class,
12-15kV(0B)

EquLASC-132-144kV(OB)
Equipment, Lightning Arrestor, Station Class,
132-144kV(0B)

EquLASC-18-24kv(OB)
Equipment, Lightning Arrestor, Station Class,
18-24kv(OB)

EquLASC-27-36kV(OB)
Equipment, Lightning Arrestor, Station Class,
27-36kV(0OB)

EquLASC-3-10kV(OB)
Equipment, Lightning Arrestor, Station Class,
3-10kV(OB)

EquLASC-39-48kV(OB)
Equipment, Lightning Arrestor, Station Class,
39-48kV(OB)

39

Equipment




EquLASC-54-72kV(OB)
Equipment, Lightning Arrestor, Station Class,
54-72kV(OB)

EquLASC-90-96kV(OB)
Equipment, Lightning Arrestor, Station Class,
90-96kV(0B)

EquLu(Holophane)
Equipment, Luminaire(Holophane)

EquMC(TVA)
Equipment, Meter Cabinet(TVA)

EquMSRE110
Equipment, Metal-Clad Switchgear, Roof Entrance,

110kVBIL

EquTB(TVA)
Equipment, Test Box(TVA)

40

Equipment




EquTn110
Equipment, Terminator, 110kVBIL

EquVT110(GE-JVW)
Equipment, Voltage Trf, 110kVBIL(GE-JVW)

EquVT150(GE-JVW)
Equipment, Voltage Trf, 150kVBIL(GE-JVW)

EquVT250(GE-JVS)
Equipment, Voltage Trf, 250kVBIL(GE-JVS)

EquVT350(GE-JVS)
Equipment, Voltage Trf, 350kVBIL(GE-JVS)

EquXf110
Equipment, Transformer, 110kVBIL

4

Equipment




Section IV

Major Equipment

-t
c
o
£

o
=2
(o2

Ll

S
2,

1]
=

+2 Major Equipment



M;jrBrSF110-1200(Siemens-SDV6)

Major Equipment, Breaker, SF6, 110kVBIL,
1200(Siemens-SDV6)

MjrBrSF110-1250(ABB-R-Mag

)
Major Equipment, Breaker, SF6, 110kVBIL,
1250(ABB-R-Mag)

MjrBrSF150-1200(Siemens-SDV6)
Major Equipment, Breaker, SF6, 150kVBIL,
1200(Siemens-SDV6)

M;jrBrSF150-1250(ABB-R-Mag

)
Major Equipment, Breaker, SF6, 150kVBIL,
1250(ABB-R-Mag)

M;jrBrSF250-1200(ABB-PMI)

Major Equipment, Breaker, SF6, 250kVBIL,
1200(ABB-PMI)

~

MjrBrSF350-1200(Mitsubishi-SFMT)
Major Equipment, Breaker, SF6, 350kVBIL,
1200(Mitsubishi-SFMT)

43 Major Equipment

)
c
(<)
£

2
=)
(o2

L

S
2,

©
=




MjrBrSF350-1200(Siemens-SPS2)
1200(Siemens-SPS2)

Major Equipment, Breaker, SF6, 350kVBIL,

MjrBrSF550-1200(Siemens-SPS2)

Major Equipment, Breaker, SF6, 550kVBIL,
1200(Siemens-SPS2)

.

MjrBrSF650-1200(Siemens-SPS2)
Major Equipment, Breaker, SF6, 650kVBIL,
1200(Siemens-SPS2)

W

MjrBrSF750-1200(Siemens-SPS2)

Major Equipment, Breaker, SF6, 750kVBIL,
1200(Siemens-SPS2)

\/

MjrBrSF750-2000(ABB-PMI)

Major Equipment, Breaker, SF6, 750kVBIL,
2000(ABB-PMI)

MjrCSSF150-1200(S&C-2000)

Major Equipment, Circuit Switcher, SF6, 150kVBIL,
1200(S&C-2000)

44 Major Equipment

)
c
(<)
£

2
=)
(o2

L

S
2,

©
=




MjrCSSF1P110-1200(S&C-MarkV) MjrCSSF750-1200(S&C-2000)
Major Equipment, Circuit Switcher, SF6, One Pole, Major Equipment, Circuit Switcher, SF6, 750kVBIL,
110kVBIL, 1200(S&C-MarkV) 1200(S&C-2000)

MjrCSSF750-1200(S&C-MarkV) MjrCSSF750-1200(SS-CSH)
Major Equipment, Circuit Switcher, SF6, 750kVBIL,

Major Equipment, Circuit Switcher, SF6, 750kVBIL,
1200(S&C-MarkV) 1200(SS-CSH)

)
c
(<)
£

2
=)
(o2

L

S
2,

©
=

MjrCSSF750-1200(SS-CSV) MjrLRSF750-1200(S&C)
Major Equipment, Circuit Switcher, SF6, 750kVBIL, Major Equipment, Line Rupter, SF6, 750kVBIL,
1200(SS-CSV) 1200(S&C)

45 Major Equipment



MjrMS-13Bay
Major Equipment, Metal-Clad Switchgear, 13Bay

&

MjrMS-6Bay
Major Equipment, Metal-Clad Switchgear, 6Bay

MjrRH-14x30
Major Equipment, Relay House, 14x30

o

MjrXfOI350-18mVA

MjrXfOI250-15mVA
Major Equipment, Transformer, Oil, 250kVBIL, 15mVA

Major Equipment, Transformer, Oil, 350kVBIL, 18mVA

MjrXfOI750-100mVA
Major Equipment, Transformer, Oil, 750kVBIL, 100mVA

46

Major Equipment

)
c
(<)
£

2
=)
(o2

L

1

2,
©
=




M;jrXfOI750-30mVA

Major Equipment, Transformer, Oil, 750kVBIL, 30mVA

47

Major Equipment

)
c
o
£

2
=
(o2

L

S
2,

1]
=




Section 'V

Insulators

48

Insulators




InsSPPmMSS150
Insulator, Station Post, Polymer, Standard Strength,

=
: i
v/

L

InsSPPmMSS200
Insulator, Station Post, Polymer, Standard Strength,

200kVBIL

InsSPPmMSS250
Insulator, Station Post, Polymer, Standard Strength,

250kVBIL

e
o

Vgddded

InsSPPmMSS350
Insulator, Station Post, Polymer, Standard Strength,

350kVBIL

TN ,};i }

{

InsSPPmMSS550
Insulator, Station Post, Polymer, Standard Strength,

550kVBIL
¢

-

prreveveeTewy , -

InsSPPmMSS650
Insulator, Station Post, Polymer, Standard Strength,

650kVBIL

A

]

AHBHB 00800000

&

49 Insulators




InsSPPmMSS750
Insulator, Station Post, Polymer, Standard Strength,
750kVBIL

e

bbb bbbbbdbbdbdd

InsSPPmMSS900
Insulator, Station Post, Polymer, Standard Strength,
900kVBIL

]

g

Shbbbbsbbbbbbbbbbbdid

InsSPPrEH095
Insulator, Station Post, Porcelain, Extra High Strength,
095kVBIL

InsSPPrEH110
Insulator, Station Post, Porcelain, Extra High Strength,
110kVBIL

InsSPPrEH150
Insulator, Station Post, Porcelain, Extra High Strength,
150kVBIL

InsSPPrEH200
Insulator, Station Post, Porcelain, Extra High Strength,
200kVBIL

50 Insulators



InsSPPrEH250
Insulator, Station Post, Porcelain, Extra High Strength,

250kVBIL

InsSPPrEH350
Insulator, Station Post, Porcelain, Extra High Strength,

350kVBIL

InsSPPrEH550
Insulator, Station Post, Porcelain, Extra High Strength,

550kVBIL

InsSPPrEH650
Insulator, Station Post, Porcelain, Extra High Strength,

650kVBIL

InsSPPrEH750
Insulator, Station Post, Porcelain, Extra High Strength,

750kVBIL

InsSPPrEH900
Insulator, Station Post, Porcelain, Extra High Strength,

900kVBIL

51

Insulators




InsSPPrTR202
Insulator, Station Post, Porcelain, ANSI TR202

InsSPPrTR205
Insulator, Station Post, Porcelain, ANSI TR205

InsSPPrTR208
Insulator, Station Post, Porcelain, ANSI TR208

InsSPPrTR210
Insulator, Station Post, Porcelain, ANSI TR210

InsSPPrTR214
Insulator, Station Post, Porcelain, ANSI TR214

InsSPPrTR216
Insulator, Station Post, Porcelain, ANSI TR216

52

Insulators




InsSPPrTR222
Insulator, Station Post, Porcelain, ANSI TR222

InsSPPrTR225
Insulator, Station Post, Porcelain, ANSI TR225

InsSPPrTR227
Insulator, Station Post, Porcelain, ANSI TR227

InsSPPrTR231
Insulator, Station Post, Porcelain, ANSI TR231

InsSPPrTR267
Insulator, Station Post, Porcelain, ANSI TR267

InsSPPrTR278
Insulator, Station Post, Porcelain, ANSI TR278

53

Insulators




InsSPPrTR286
Insulator, Station Post, Porcelain, ANSI TR286

InsSPPrTR287
Insulator, Station Post, Porcelain, ANSI TR287

InsSPPrTR288
Insulator, Station Post, Porcelain, ANSI TR288

InsSPPrTR289
Insulator, Station Post, Porcelain, ANSI TR289

InsSPPrTR291
Insulator, Station Post, Porcelain, ANSI TR291

InsSPPrTR295
Insulator, Station Post, Porcelain, ANSI TR295

54

Insulators




InsSPPrTR304
Insulator, Station Post, Porcelain, ANSI TR304

~

InsSPPrTR308
Insulator, Station Post, Porcelain, ANSI TR308

55

Insulators




Section VI

Structures

56

Structures




AssStrBrOHT1101
Assembly, Structure, Breaker, Overhead, T11, 15kV

AssStrBrOHT1201
Assembly, Structure, Breaker, Overhead, T12, 15kV

AssStrBrOHT2101
Assembly, Structure, Breaker, Overhead, T21, 15kV

AssStrBrOHT2201
Assembly, Structure, Breaker, Overhead, T22, 15kV

AssStrBruGT1101
Assembly, Structure, Breaker, Underground, T11, 15kV

AssStrBruGT1201
Assembly, Structure, Breaker, Underground, T12, 15kV

57 Structures




AssStrBruGT2101
Assembly, Structure, Breaker, Underground, T21, 15kV

AssStrBruGT2201
Assembly, Structure, Breaker, Underground, T22, 15kV

AssStrMg3P01-17
Assembly, Structure, Metering, Three Pole, 15kV, 17*

AssStrMg4P01-17
Assembly, Structure, Metering, Four Pole, 15kV, 17*

AssStrMg4P02-17
Assembly, Structure, Metering, Four Pole, 25kV, 17*

AssStrSw3PVB04-18
Assembly, Structure, Switch, Three Pole, Vertical

Break, 46kV, 18'

58 Structures




AssStrSw3PVB04-27
Assembly, Structure, Switch, Three Pole, Vertical

Break, 46kV, 27'

AssStrSw3PVB06-18
Assembly, Structure, Switch, Three Pole, Vertical

Break, 69kV, 18'

AssStrSw3PVB06-27
Assembly, Structure, Switch, Three Pole, Vertical

Break, 69kV, 27"

AssStrSw3PVB16-18
Assembly, Structure, Switch, Three Pole, Vertical

Break, 161kV, 18'

AssStrSw3PVB16-27
Assembly, Structure, Switch, Three Pole, Vertical

Break, 161kV, 27'

AssStrSw3PVe01-32
Assembly, Structure, Switch, Three Pole, Vee Switch,

15kV, 32'
H

59 Structures




AssStrSw3PVe06-21
Assembly, Structure, Switch, Three Pole, Vee Switch,

69kVv, 21'

AssStrSw4PVB02-18
Assembly, Structure, Switch, Four Pole, Vertical Break,

25kV, 18

AssStrSw4PVe01-18
Assembly, Structure, Switch, Four Pole, Vee Switch,

15kV, 18'

AssStrSw4PVe01-20
Assembly, Structure, Switch, Four Pole, Vee Switch,

15kV, 20'

AssStrSw4PVe01-21
Assembly, Structure, Switch, Four Pole, Vee Switch,

15kV, 21'

FncBI-5x15
Fence, Block, 5x15'

60 Structures




FncBI-5x9 FncCk-5x9
Fence, Block, 5x9' Fence, Chain Link, 5x9'

FncCP-10 FncGt-10

Fence, Corner Post, 10’ Fence, Gate, 10’
FncGt-20 FncLP-10

Fence, Gate, 20’ Fence, Line Post, 10'

61 Structures




StrBrT1101
Structure, Breaker, T11, 15kV

StrBrT1102
Structure, Breaker, T11, 25kV

StrBrT1104
Structure, Breaker, T11, 46kV

StrBrT1106
Structure, Breaker, T11, 69kV

StrBrT1116
Structure, Breaker, T11, 161kV

StrBrT1201
Structure, Breaker, T12, 15kV

62 Structures




StrBrT1202
Structure, Breaker, T12, 25kV

StrBrT1204
Structure, Breaker, T12, 46kV

StrBrT1206
Structure, Breaker, T12, 69kV

StrBrT1216
Structure, Breaker, T12, 161kV

StrBrT2101
Structure, Breaker, T21, 15kV

StrBrT2201
Structure, Breaker, T22, 15kV

63

Structures




StrBrT3101
Structure, Breaker, T31, 15kV

StrDeAF16-39
Structure, Deadend, A-Frame, 161kV, 39'

StrDeHh04-25
Structure, Deadend, H-Structure, 46kV, 25'

StrDeHh06-25
Structure, Deadend, H-Structure, 69kV, 25'

N

StrDeHh16-32
Structure, Deadend, H-Structure, 161kV, 32'

StrDeHh16-62
Structure, Deadend, H-Structure, 161kV, 62'

64

Structures




StrLM-65
Structure, Lightning Mast, 65'

StrLM-75
Structure, Lightning Mast, 75'

StrLM-85
Structure, Lightning Mast, 85'

StrMg3P01-17
Structure, Metering, Three Pole, 15kV, 17

StrMG4P01-17
Structure, Metering, Four Pole, 15kV, 17

StrMg4p02-17
Structure, Metering, Four Pole, 25kV, 17

65 Structures




StrPi01-18
Structure, Pi-Structure, 15kV, 18'

StrPi01-21
Structure, Pi-Structure, 15kV, 21'

StrPi01-22
Structure, Pi-Structure, 15kV, 22'

StrPi02-18
Structure, Pi-Structure, 25kV, 18'

StrPi02-22
Structure, Pi-Structure, 25kV, 22'

StrPi04-16
Structure, Pi-Structure, 46kV, 16'

66 Structures




StrPi04-19
Structure, Pi-Structure, 46kV, 19'

StrPi04-20
Structure, Pi-Structure, 46kV, 20'

StrPi04-22
Structure, Pi-Structure, 46kV, 22'

StrPi06-16
Structure, Pi-Structure, 69kV, 16'

StrPi06-20
Structure, Pi-Structure, 69kV, 20'

StrPi06-22
Structure, Pi-Structure, 69kV, 22'

67 Structures




StrPi16-13
Structure, Pi-Structure, 161kV, 13'

StrPi16-18
Structure, Pi-Structure, 161kV, 18'

>I ~
~
” ~
StrPi16-22 StrSSBrT3201
Structure, Pi-Structure, 161kV, 22' Structure, Substation, Breaker, T32, 15kV
> >T ”

StrSw3PVB02-18
Structure, Switch, Three Pole, Vertical Break, 25kV, 18'

StrSw3PVB04-14
Structure, Switch, Three Pole, Vertical Break, 46kV, 14'

68 Structures




StrSw3PVB04-19
Structure, Switch, Three Pole, Vertical Break, 46kV, 19'

StrSw3PVB04-21

Structure, Switch, Three Pole, Vertical Break, 46kV, 21'

StrSw3PVB04-25
Structure, Switch, Three Pole, Vertical Break, 46kV, 25'

StrSw3PVB06-15

Structure, Switch, Three Pole, Vertical Break, 69kV, 15'

StrSw3PVB16-10
Structure, Switch, Three Pole, Vertical Break, 161kV, 10’

StrSw3PVB16-12

Structure, Switch, Three Pole, Vertical Break, 161kV, 12'

69

Structures




StrSw3PVB16-20
Structure, Switch, Three Pole, Vertical Break, 161kV, 20'

StrSw3PVe01-16
Structure, Switch, Three Pole, Vee Switch, 15kV, 16'

StrSw3PVe01-18
Structure, Switch, Three Pole, Vee Switch, 15kV, 18'

StrSw3PVe01-19
Structure, Switch, Three Pole, Vee Switch, 15kV, 19'

StrSw3pVe01-32
Structure, Switch, Three Pole, Vee Switch, 15kV, 32'

StrSw3PVe04-23
Structure, Switch, Three Pole, Vee Switch, 46kV, 23'

70 Structures




StrSw3PVe06-14
Structure, Switch, Three Pole, Vee Switch, 69kV, 14’

StrSw3PVe06-23
Structure, Switch, Three Pole, Vee Switch, 69kV, 23'

StrSw4PVe01-16
Structure, Switch, Four Pole, Vee Switch, 15kV, 16’

StrSw4PVe01-17
Structure, Switch, Four Pole, Vee Switch, 15kV, 17"

StrSw4PVe01-18
Structure, Switch, Four Pole, Vee Switch, 15kV, 18'

StrSw4PVe01-20
Structure, Switch, Four Pole, Vee Switch, 15kV, 20’

71 Structures




StrSw4PVe01-22
Structure, Switch, Four Pole, Vee Switch, 15kV, 22'

StrSw4PVe02-18
Structure, Switch, Four Pole, Vee Switch, 25kV, 18'

StrSw4PVe02-22
Structure, Switch, Four Pole, Vee Switch, 25kV, 22'

StrTS01-17
Structure, T-Structure, 15kV, 17

StrTS01-18
Structure, T-Structure, 15kV, 18'

StrTS01-22
Structure, T-Structure, 15kV, 22'

72 Structures




Str7S02-18
Structure, T-Structure, 25kV, 18'

StrTS02-22
Structure, T-Structure, 25kV, 22'

73

Structures




Section VII

Switches

74

Switches




SwtCB1P110-1200(USCO)
Switch, Center Break, Single Pole, 110kVBIL,
1200(USCO)

SwtCB1P150-1200(USCO)
Switch, Center Break, Single Pole, 150kVBIL,
1200(USCO)

SwtCB1P200-1200(USCO)
Switch, Center Break, Single Pole, 200kVBIL,
1200(USCO)

SwtCB1P250-1200(USCO)
Switch, Center Break, Single Pole, 250kVBIL,
1200(USCO)

SwtCB1P350-1200(SS)
Switch, Center Break, Single Pole, 350kVBIL, 1200(SS)

SwtCB1P350-1200(USCO)
Switch, Center Break, Single Pole, 350kVBIL,
1200(USCO)

75

Switches




SwtCB1P550-1200(USCO)
Switch, Center Break, Single Pole, 550kVBIL,
1200(USCO)

SwtCB1P650-1200(USCO)
Switch, Center Break, Single Pole, 650kVBIL,
1200(USCO)

SwtCB1P750-1200(SS)
Switch, Center Break, Single Pole, 750kVBIL, 1200(SS)

SwtCB1P750-1200(USCO)
Switch, Center Break, Single Pole, 750kVBIL,
1200(USCO)

SwtCB3P550-1200(USCO)
Switch, Center Break, Three Pole, 550kVBIL,
1200(USCO)

SwtCB3P650-1200(USCO)
Switch, Center Break, Three Pole, 650kVBIL,
1200(USCO)

76 Switches




SwtHS1P110-1200(SS)
Switch, Hook Stick, Single Pole, 110kVBIL, 1200(SS)

SwtHS1P110-1200(USCO)
Switch, Hook Stick, Single Pole, 110kVBIL, 1200(USCO)

SwtHS1P150-1200(SS)
Switch, Hook Stick, Single Pole, 150kVBIL, 1200(SS)

SwtHS1P150-1200(USCO)
Switch, Hook Stick, Single Pole, 150kVBIL, 1200(USCO)

SwtHS1P250-1200(SS)
Switch, Hook Stick, Single Pole, 250kVBIL, 1200(SS)

SwtHS1P250-1200(USCO)
Switch, Hook Stick, Single Pole, 250kVBIL, 1200(USCO)

77 Switches




SwtHS1P350-1200(SS)
Switch, Hook Stick, Single Pole, 350kVBIL, 1200(SS)

SwtHS1P350-1200(USCO)
Switch, Hook Stick, Single Pole, 350kVBIL, 1200(USCO)

SwtHS1P750-1200(SS)
Switch, Hook Stick, Single Pole, 750kVBIL, 1200(SS)

SwtHV1P110-1200(USCO)
Switch, Hook Stick Vee, Single Pole, 110kVBIL,
1200(USCO)

SwtHV1P150-1200(USCO)
Switch, Hook Stick Vee, Single Pole, 150kVBIL,
1200(USCO)

SwtHV1P250-1200(USCO)
Switch, Hook Stick Vee, Single Pole, 250kVBIL,
1200(USCO)

78 Switches




SwtHV1P350-1200(USCO)
Switch, Hook Stick Vee, Single Pole, 350kVBIL,
1200(USCO)

SwtOpGP
Switch, Operator, Ground Plate

SwtOpSA
Switch, Operator, Swing Arm

> S

SwtOpWG
Switch, Operator, Worm Gear

SwtRB1P110-1200(SS)
Switch, Regulator By Pass, Single Pole, 110kVBIL,
1200(SS)

SwtRB1P110-1200(USCO)
Switch, Regulator By Pass, Single Pole, 110kVBIL,
1200(USCO)

79 Switches




SwtRB1P150-1200(SS)
Switch, Regulator By Pass, Single Pole, 150kVBIL,
1200(SS)

SwtRB1P150-1200(USCO)
Switch, Regulator By Pass, Single Pole, 150kVBIL,
1200(USCO)

SwtSB1P110-1200(USCO)
Switch, Side Break, Single Pole, 110kVBIL, 1200(USCO)

SwtSB1P150-1200(USCO)
Switch, Side Break, Single Pole, 150kVBIL, 1200(USCO)

SwtSB1P250-1200(USCO)
Switch, Side Break, Single Pole, 250kVBIL, 1200(USCO)

SwtSB1P350-1200(USCO)
Switch, Side Break, Single Pole, 350kVBIL, 1200(USCO)

80 Switches




SwtVB1P110-1200(SS)
Switch, Vertical Break, Single Pole, 110kVBIL, 1200(SS)

SwtVB1P110-1200(USCO)
Switch, Vertical Break, Single Pole, 110kVBIL,
1200(USCO)

SwtVB1P150-1200(SS)-1
Switch, Vertical Break, Single Pole, 150kVBIL,
1200(SS)-1

SwtVB1P150-1200(SS)
Switch, Vertical Break, Single Pole, 150kVBIL, 1200(SS)

SwtVB1P150-1200(USCO)
Switch, Vertical Break, Single Pole, 150kVBIL,
1200(USCO)

SwtVB1P250-1200(SS)
Switch, Vertical Break, Single Pole, 250kVBIL, 1200(SS)

81 Switches




SwtVB1P250-1200(USCO)
Switch, Vertical Break, Single Pole, 250kVBIL,
1200(USCO)

SwtVB1P350-1200(SS)
Switch, Vertical Break, Single Pole, 350kVBIL, 1200(SS)

SwtVB1P350-1200(USCO)
Switch, Vertical Break, Single Pole, 350kVBIL,
1200(USCO)

SwtVB1P550-1200(USCO)
Switch, Vertical Break, Single Pole, 550kVBIL,
1200(USCO)

SwtVB1P650-1200(USCO)
Switch, Vertical Break, Single Pole, 650kVBIL,
1200(USCO)

SwtVB1P750-1200(SS)
Switch, Vertical Break, Single Pole, 750kVBIL, 1200(SS)

82 Switches




SwtVB1P750-1200(USCO)
Switch, Vertical Break, Single Pole, 750kVBIL,
1200(USCO)

SwtVB3P110-1200(USCO)
Switch, Vertical Break, Three Pole, 110kVBIL,
1200(USCO)

SwtVB3P150-1200(USCO)
Switch, Vertical Break, Three Pole, 150kVBIL,
1200(USCO)

SwtVB3P250-1200(USCO)
Switch, Vertical Break, Three Pole, 250kVBIL,
1200(USCO)

SwtVB3P350-1200(USCO)
Switch, Vertical Break, Three Pole, 350kVBIL,
1200(USCO)

SwtVB3P550-1200(USCO)
Switch, Vertical Break, Three Pole, 550kVBIL,
1200(USCO)

83

Switches




SwtVB3P650-1200(USCO)
Switch, Vertical Break, Three Pole, 650kVBIL,
1200(USCO)

SwtVB3P750-1200(USCO)
Switch, Vertical Break, Three Pole, 750kVBIL,
1200(USCO)

SwtVe1P110-1200(USCO)
Switch, Vee Switch, Single Pole, 110kVBIL, 1200(USCO)

SwtVe1P150-1200(USCO)
Switch, Vee Switch, Single Pole, 150kVBIL, 1200(USCO)

SwtVe1P250-1200(USCO)
Switch, Vee Switch, Single Pole, 250kVBIL, 1200(USCO)

SwtVe1P350-1200
Switch, Vee Switch,

gSS)
ingle Pole, 350kVBIL, 1200(SS)

84 Switches




SwtVe1P350-1200(USCO)
Switch, Vee Switch, Single Pole, 350kVBIL, 1200(USCO)

SwtVe1P550-1200(USCO)

Switch, Vee Switch, Single Pole, 550kVBIL, 1200(USCO)

SwtVe1P650-1200(USCO)
Switch, Vee Switch, Single Pole, 650kVBIL, 1200(USCO)

SwtVe1P750-1200(SS)

Switch, Vee Switch, Single Pole, 750kVBIL, 1200(SS)

SwtVe1P750-1200(USCO)
Switch, Vee Switch, Single Pole, 750kVBIL, 1200(USCO)

SwtVe3P110-1200(USCO)

Switch, Vee Switch, Three Pole, 110kVBIL, 1200(USCO)

85

Switches




SwtVe3P150-1200(USCO)
Switch, Vee Switch, Three Pole, 150kVBIL, 1200(USCO)

SwtVe3P250-1200(USCO)

Switch, Vee Switch, Three Pole, 250kVBIL, 1200(USCO)

SwtVe3P350-1200(USCO)
Switch, Vee Switch, Three Pole, 350kVBIL, 1200(USCO)

SwtVe3P550-1200(USCO)

Switch, Vee Switch, Three Pole, 550kVBIL, 1200(USCO)

SwtVe3P650-1200(USCO)
Switch, Vee Switch, Three Pole, 650kVBIL, 1200(USCO)

SwtVe3P750-1200(USCO)

Switch, Vee Switch, Three Pole, 750kVBIL, 1200(USCO)

86

Switches




SwtVe4P110-1200(USCO)
Switch, Vee Switch, Four Pole, 110kVBIL, 1200(USCO)

R
¥
o

SwtVe4P150-1200(USCO)

Switch, Vee Switch, Four Pole, 150kVBIL, 1200(USCO)

87

Switches




Section VIII

Distribution

88

Distribution

Distribution



BItCg38x4
Bolt, Carriage, 3/8x4"

BItCg58x7
Bolt, Carriage, 5/8x7"

BItDA58x12
Bolt, Double Arming, 5/8x12"

BItDAS8x14
Bolt, Double Arming, 5/8x14"

BItDA58x16
Bolt, Double Arming, 5/8x16"

BItDA58x18
Bolt, Double Arming, 5/8x18"

89

Distribution

c
o
]
=)
o)
™
=l
D
o



BItDA58x20
Bolt, Double Arming, 5/8x20"

BItDA58x22
Bolt, Double Arming, 5/8x22"

BItDAS8x24
Bolt, Double Arming, 5/8x24"

BItDU58x10
Bolt, Double Upset, 5/8x10"

BItDU58x12
Bolt, Double Upset, 5/8x12"

BItDU58x14
Bolt, Double Upset, 5/8x14"

90

Distribution

c
o
]
=)
o)
™
=l
0
o



BItDU58x16
Bolt, Double Upset, 5/8x16"

BItDU58x8
Bolt, Double Upset, 5/8x8"

BItEN58
Bolt, Eye Nut, 5/8"

BItEy58x10
Bolt, Eye, 5/8x10"

BItEy58x12
Bolt, Eye, 5/8x12"

BItEy58x14
Bolt, Eye, 5/8x14"

91

Distribution

c
o
]
=)
o)
™
=l
D
o



BItEy58x16
Bolt, Eye, 5/8x16"

BItEy58x18
Bolt, Eye, 5/8x18"

BItEy58x8
Bolt, Eye, 5/8x8"

BItLS12x4
Bolt, Lag Screw, 1/2x4"

BltMa58x10
Bolt, Machine, 5/8x10"

BltMa58x12
Bolt, Machine, 5/8x12"

92

Distribution

c
o
]
=)
o)
™
=l
D
o



BltMa58x14
Bolt, Machine, 5/8x14"

BltMa58x16
Bolt, Machine, 5/8x16"

BltMa58x18
Bolt, Machine, 5/8x18"

BltMa58x20
Bolt, Machine, 5/8x20"

BltMa58x8
Bolt, Machine, 5/8x8"

BItNt58
Bolt, Nut, 5/8"

93

Distribution

c
o
]
=)
o]
=
=l
D
o



BrcAA60

Brace, Alley Arm, 60"

()‘\

BrcSt26
Brace, Strain, 26"

BrcWb60

Brace, Wishbone, 60"

ClpAn1.125
Clamp, Angle, 1.125"

ClpAn1.95

Clamp, Angle, 1.95"

DedFI2AA
Deadend, Flexible, 2AA

94

Distribution

c
o
=
=
o)
™
=
0
o




DedFI30AA
Deadend, Flexible, 3/0AA

DedQd33AC
Deadend, Quad, 336AC

DedRg2AA
Deadend, Ridgid, 2AA

DedRg30AA
Deadend, Ridgid, 3/0AA

DedRg33AA
Deadend, Ridgid, 336AA

DedWg2AA
Deadend, Wedge, 2AA

95

Distribution

c
o
]
=)
o]
=
=l
D
o



DedWg33AA
Deadend, Wedge, 336AA

DedWg63AA
Deadend, Wedge, 636AA

thCng
Fitting, Clevis, Secondary

FtgFGTE18
Fitting, Fiberglass, Thimble Eye, 18"

FtgPnArLg
Fitting, Pin, Anchor, Long

FtgPnArSh
Fitting, Pin, Anchor, Shackle

96

Distribution

c
o
]
=)
o]
=
=l
D
o



FtgPnFg18
Fitting, Pin, Fiberglass, 18"

FtgPnPT
Fitting, Pin, Pole Top

FtgPnSa
Fitting, Pin, Saddle

FtgPnTx
Fitting, Pin, Transformer

FtgThAd
Fitting, Thimble, Adaptor

InsDiPmSt52-4
Insulator, Distribution, Polymer, Strain, ANSI TR52

97 Distribution

c
o
]
=)
o]
=
=l
D
o



InsDiPrDe52-1
Insulator, Distribution, Porcelain, Deadend, ANSI TR52

InsDiPrPn55-4
Insulator, Distribution, Porcelain, Pin, ANSI TR55

InsDiPrSt52-9
Insulator, Distribution, Porcelain, Strain, ANSI TR52

InsSdPrSp53-2
Insulator, Stud, Porcelain, Station Post, ANSI TR53

TrfOHCS25
Transformer, Overhead, CSP, 25kVA

XrmFG10

Crossarm, Fiberglass, 10'

/

98 Distribution

c
o
]
=)
o]
=
=l
D
o




XrmFg1P18 XrmFg2PDe36
Crossarm, Fiberglass, Single Phase, 18" Crossarm, Fiberglass, Two Phase, Deadend, 36"

XrmFg36 XrmFg8
Crossarm, Fiberglass, 36" Crossarm, Fiberglass, 8'

XrmFgDe10 XrmFgDe8
Crossarm, Fiberglass, Deadend, 10’ Crossarm, Fiberglass, Deadend, 8'

c
o
]
=)
o)
™
=l
D
o

99 Distribution



XrmWd10 XrmWd8
Crossarm, Wood, 10' Crossarm, Wood, 8'

c
o
2
S
o)
=
il
0
(a]

100 Distribution



Section IX

Transmission

c
Q
"
)
£
»
c
®
S
[ ]

101 Transmission



AssDed63Al-46kV
Assembly, Deadend, 636Al, 46kV

AssDedDP63AI-46kV
Assembly, Deadend, Double Pad, 636Al, 46kV

AssDedOG
Assembly, Deadend, OHGW

AssStrSw4PVe01-21
Assembly, Structure, Switch, Four Pole, Vee Switch,

15kV, 21'

BktTmCIOG
Bracket, Transmission, Clamp, OHGW

BktTmSnOG
Bracket, Transmission, Suspension, OHGW

102 Transmission

c
9
"
i
£
»
c
®
S
[ ]



BItDA34x12
Bolt, Double Arming, 3/4x12"

BItDA34x14
Bolt, Double Arming, 3/4x14"

BItDA34x16
Bolt, Double Arming, 3/4x16"

BItDA34x18
Bolt, Double Arming, 3/4x18"

BItDA34x20
Bolt, Double Arming, 3/4x20"

BItEN34
Bolt, Eye Nut, 3/4"

103

Transmission

c
i)
"
2
£
2]
c
©
=
-




BItEy34x10 BItEy34x12
Bolt, Eye, 3/4x10" Bolt, Eye, 3/4x12"

BitEy34x14 BItEy34x16
Bolt, Eye, 3/4x14" Bolt, Eye, 3/4x16"

BItEy34x8 BltLn34
Bolt, Eye, 3/4x8" Bolt, Locknut, 3/4"

c
i)
0
2
£
2]
c
©
=
-

104 Transmission



BltMa34x10
Bolt, Machine, 3/4x10"

BltMa34x12
Bolt, Machine, 3/4x12"

BltMa34x14
Bolt, Machine, 3/4x14"

BltMa34x16
Bolt, Machine, 3/4x16"

BltMa34x18
Bolt, Machine, 3/4x18"

BltMa34x8
Bolt, Machine, 3/4x8"

105 Transmission

c
Q2
0
2
£
2]
c
©
=
-



BItSE34x10
Bolt, Shoulder Eye, 3/4x10"

o

BItSE34x12
Bolt, Shoulder Eye, 3/4x12"

\@

BItSE34x14
Bolt, Shoulder Eye, 3/4x14"

\@

BItSE34x16
Bolt, Shoulder Eye, 3/4x16"

\@

BItSE34x18
Bolt, Shoulder Eye, 3/4x18"

\@

BItSE34x8
Bolt, Shoulder Eye, 3/4x8"

106

Transmission

c
Q2
0
2
£
2]
c
©
=
-




BltWaCd34
Bolt, Washer, Curved, 3/4"

BltWaRd34
Bolt, Washer, Round, 3/4"

BitWaSq34
Bolt, Washer, Square, 3/4"

BltWn34
Bolt, Washernut, 3/4"

BndPI
Bnd, Pole

ClpTmOG
Clamp, Transmission, OHGW

107

Transmission

c
9
"
i
£
»
c
®
| S
=



DedCm63Al
Deadend, Compression, 636Al

DedCmDP63Al
Deadend, Compression, Double Pad, 636Al

DedOG-46KV
Deadend, OHGW, 46KV

FtgAS
Fitting, Anchor Shackle

FtgCvBl
Fitting, Clevis, Ball

FtgCvCv
Fitting, Clevis, Clevis

108

Transmission

c
9
"
i
£
»
c
®
| S
=



FtgCvCv@90
Fitting, Clevis, Clevis

Ftg CvEg
Fitting, Clevis, Eye

FtgCvEy@90 FtgHkBI
F|tt|ng, g gis, Eye Fitgt’ing, Hook, Ball
FtgSoCv FtgSoEy

Fitting, Socket, Clevis

Fitting, Socket, Eye

109

Transmission

c
9
"
i
£
»
c
®
| S
=




FtgYCBI InsTMLPPmMCI69kV
Fitting, Y-Clevis, Ball Insulator, Transmission, Line Post, Polymer, Clamp,

69kV

InsTmMLPPmMSn69kV InsTmStPm161kV
Insulator, Transmission, Line Post, Polymer, Insulator, Transmission, Strain, Polymer, 161kV
Suspension, 69kV

InsTmStPr52-3 SwtTm1P46kV(Turner)
Insulator, Transmission, Strain, Porcelain, ANSI TR52 Switch, Transmission, Single Pole, 46kV(Turner)

c
9
"
i
£
»
c
®
| S
=

110 Transmission



XrmTmDvFg30
Crossarm, Transmission, Davit, Fiberglass, 30"

M

Transmission

c
Q2
0
2
£
2]
c
©
=
-



Unit - Description Page

Section | - Condulets
CdIBU-3 - CoNAUIEE, BUSHING, 3"......o.eeee ettt 2
CAIFBC-1.5 - CoNAUIEE, FOMM B, 1.5 ...ttt sttt ettt b et b et s e s ettt se sttt st s e e bt esen s et et sssn s e et et sn s et e 2
CAIFBC-1 - CONAUIBE, FOMM BC, 1.ttt sttt s bbbt e s sttt en s sttt s e s st e et en s ettt st s b et et st en e ettt en st et et snenees 2
CAIFBC-2.5 - CoNAUIEE, FOMM BT, 2.5" ...ttt sttt ettt s sttt bt st s sttt st sttt st s s bt es s s e bt st en s e et et sn s e bnas 2
CAIFBC-2 - CONAUIBE, FOIM BC, 2".......oeeeeeeeeee sttt ettt st en bbbt en s sttt st s et et s s s et et et sn s b et et et en s ettt en ettt snenses 2
CAIFBC-3 - CONAUIBE, FOMM 8C, 3.ttt sttt s bbbttt n bttt en s sttt s e s et e et en s ettt sn s b et et st en s ettt en st et et snenees 2
CAIFBE-1.5 - CoNAUIBE, FOTM BE, 1.5".... .ottt sttt bt se sttt s ettt sn s b bt st s e bt st s et et st snsn b et et sn s e e beas 3
CAIFBE-1 - CONAUIEE, FOMM BE, 1.ttt sttt s bbbttt e s ettt s s bbb ss s e et et esense bbb se s e bt es s sttt snsn b et et snenees 3
CAIFBE-2.5 - CoNAUIBE, FOTM BE, 2.5".... ..ottt sttt ettt ettt st st s sttt sn s bt sse s s bt st s et et et sn s e et et sn s e e reas 3
CAIFBE-2 - CONAUIEE, FOMM BE, 2"......eeeeeeeeeteeetct sttt ettt et s st sttt s ettt se s s bt se s e et et esen s e s et et se s e bt es s e et et etsnsn b et et sssnees 3
CAIFBLB-1.5 - Condulet, FOMM LB, 1.5" ..ottt sttt b bbb bbb bbb b bbbttt en b 3
CAIFBLB-1 - CONAUIEE, FOMM BLB, 1".......eeeeceeeeete sttt sttt sttt ese et sb sttt se s bt sse s st e st s st et et snsn b et et sn s e e beas 3
CAIFBLB-2.5 - CondUIet, FOMM LB, 2.5" ..ottt sb st b bbb bbb b bbbt bbbt bbb st 4
CAIFBLB-2 - CONAUIBE, FOMM BLB, 2".......oeeceeeeeceete sttt sttt s ettt st se st st s s bt st se s b bt se s e bt st s st et st snsn b et et sn s e e beas 4
CAIFBLL-1.5 - CoNAUIEt, FOMM BLL, 1.5"......oeieeciitiitsisie ettt b bbbttt sttt ettt b s 4
CAIFBLL-T - CONAUIBE, FOMM BLL, 1™ttt sttt ettt st n ettt en st ssss s s b et st en s et et et sn s b et et et en s ettt sn s b st snnens 4
CAIFBLL-2.5 - CoNAUIEE, FOMM BLL, 2.5".......oiecieisitsieis ettt sttt sttt bbbttt sttt ettt bbb 4
CAIFBLL-2 - CONAUIBE, FOMM BLL, 2.ttt ettt sttt s sttt sttt sttt en s sttt se s et et st s s ettt st s b et et st en s et et st en sttt snnens 4
CAIFBLR-1.5 - Condulet, FOIM BLR, 1.5 ...ttt bbb bbb bbbt b bbbt bbb b s 5
CAIFBLR-1 = CoNAUIBE, FOTM BLR, 1".....eeeeeeeeeee ettt sttt ettt et s et b st b bt ss s e bt stse sttt st s sttt en s et et stsn s e et s sn s st e 5
CAIFBLR-2.5 - Condulet, FOIM BLR, 2.5"........eieisieee ettt sttt bbb bbbt b bbbt bbb 5
CAIFBLR-2 - CoNAUIBE, FOM BLR, 2.ttt ettt ettt sttt b et st s e bt stsn s bt st st s sttt en s e et st sn s s et s sn s s tnas 5
CAIFBT-1.5 - CoNAUIBE, FOMM 8T, 1.5 ... ettt ettt e bt e s sttt se s bbb s s s s s b et et snsn e et et sten s st et et snsn b et et snnees 5
CAIFBT-1 = CONAUIBE, FOMM 8T, 1.ttt et et s et ess bt st s e et et e st s e et et et snss bt st se s e bt esen s et et essnsns et s sn s s banas 5
CAIF8T-2.5 - CoNAUIEE, FOMM 8T, 2.5 ... ettt ettt st s sttt s ettt es st se sttt st en s sttt sn s s et et stenss st sssnsnsarassnnesd 6
CAIFBT-2 - CONAUIBE, FOMM 8T, 2"ttt sttt ettt s et tss s bt ess bt e et s et e b st enss bt st se s s bt esen s e bt sssn s s et s sn s s tanas 6
CAIF8X-1.5 - CoNAUIBE, FOTM 8X, 1.5 ... ettt sttt sttt s sttt st bt st s ettt se s et sse s et e s st s et et st sn s b et et snnsebeas 6
CAIFBX-1 = CONAUIEE, FOMM BX, 1" ... ettt et s et b et se s ettt sn s bt st se s e et et et ense b et et se s e bt ss s s et e s et snsn b et et snsnens 6
CAIFBX-2 - CONAUIEE, FOMM BX, 2".....eeeeeeeeetetsestete sttt ettt s et s st sttt s s s ettt se s bt st ss s e et et et en s e bt etse s et et es s b et et et snsn b et et ssenens 6

Section Il - Connectors
CnnBSBIAI2-3BC - Connector, Bus Support, Bolted, Aluminum, 2", 3BC.........ccccemieieiecieeeeesese ettt sessesssans 8
CnnBSBIAI2.5-3BC - Connector, Bus Support, Bolted, Aluminum, 2.5", 3BC..........cccoeieieiieireeeiese ettt sessesaannd 8
CnnBSBIAI2.5 - Connector, Bus Support, Bolted, AIUMINUM, 2.5"...........o ettt sttt bbb 8
CnnBSBIAI2 - Connector, Bus Support, Bolted, AIUMINUM, 2"..........c.ouiieieieiee ettt sttt bbbt sbe st besaessnd 8
CnnBSBIAI3-3BC - Connector, Bus Support, Bolted, Aluminum, 3", 3BC.........cccoreieeiccteeeeeieie ettt essesssans 8
CnnBSBIAI3 - Connector, Bus Support, Bolted, AIUMINUM, 3".........ooieeieeeeeeeteetese ettt sttt sb bbbt saes s 8
CnnBSBIAI4-3BC - Connector, Bus Support, Bolted, Aluminum, 4", 3BC.........cccreieieeeeeeeeeee ettt bessesssans 9
CnnBSBIAI4 - Connector, Bus Support, Bolted, AIUMINUM, 4"..........c.oeeeeeceeteetese ettt sttt bbbttt sae s 9
CnnBSBIAI5-3BC - Connector, Bus Support, Bolted, Aluminum, 5", 3BC.........cccceeieieiecceeeeeseie ettt essesssans 9
CnnBSBIAI5 - Connector, Bus Support, Bolted, AIUMINUM, 5"..........c.ouieieieeeeeetestese ettt esb bbbt sb s bbb sae s 9
CnnBSBIAI6-3BC - Connector, Bus Support, Bolted, Aluminum, 6", 3BC.........cc.ccueieieiecteeeieieie ettt sesse s essesssans 9
CnnBSBIAI6 - Connector, Bus Support, Bolted, AIUMINUM, B"............ccoiuiiriieieicieceeteeiese ettt esbes sttt se s bbbt saessns 9
CnnBSCaAI600-1250-3BC - Connector, Bus Support, Cable, Aluminum, 600", 1250-3BC...........ccccovmrrmrirmininrinniessnsisseessseseeens. 10
CnnBSCaAl600-1250 - Connector, Bus Support, Cable, Aluminum, 600", 1250..........cccccerminierieieieteetssese et sanen, 10
CnnBSCaCu2-550-750 - Connector, Bus Support, Cable, Copper, 2", 550-750.........ccccourmiimirririniinsinsseesssssssisesessesssssesssssesssssees 10

CnnBSCaCu500-2000-3BC - Connector, Bus Support, Cable, Copper, 500", 2000-3BC.........cccovrmrmrmrmrrinineinsieiessssssseseesssessssenes 10




Index (cont'd)

Unit - Description Page
Section Il - Connectors (cont'd)
CnnBSCaCu500-2000 - Connector, Bus Support, Cable, Copper, 500", 2000...........ccourrurririrnrenrieiniressnsieesssessssssssssesssssessessessnenn. 10
CnnBSCpAI2-3BC - Connector, Bus Support, Coupler, Aluminum, 2", 3BC..........cooeieieiiinirneieeeice ettt tssse s sessessesanas 10
CnnBSCpAI2.5-3BC - Connector, Bus Support, Coupler, Aluminum, 2.5", 3BC.........cooreeeie ettt 11
CnnBSCpAI2.5 - Connector, Bus Support, Coupler, AIUMINUM, 2.5" ...ttt sse sttt sesaesaes 11
CnnBSCpAI2 - Connector, Bus Support, Coupler, AIUMINUM, 2".............coreiecieecese ettt sttt se st sasans 11
CnnBSCpAI3-3BC - Connector, Bus Support, Coupler, Aluminum, 3", 3BC.........ccooeieieiiireineieceie ettt bssse s bessesanas 11
CnnBSCpAI3 - Connector, Bus Support, Coupler, AIUMINUM, 3"..........ccorreceteeese ettt bbb st sa e 11
CnnBSCpAl4-3BC - Connector, Bus Support, Coupler, Aluminum, 4", 3BC..........cccooeieieieeiniieiieeeie ettt besse s bessessnas 11
CnnBSCpAl4 - Connector, Bus Support, Coupler, AIUMINUM, 4".............coreeiceeecese ettt ettt se s bbb sa e 12
CnnBSEXAI2-3BC - Connector, Bus Support, Expansion, Aluminum, 2", 3BC.........ccceiinieieie et tesse s ssstessesanas 12
CnnBSEXAI2.5-3BC - Connector, Bus Support, Expansion, Aluminum, 2.5", 3BC..........cccccoemieieiriniineiseiese et sessesssans 12
CnnBSEXAI2.5 - Connector, Bus Support, EXpansion, AIUMINUM, 2.5". ...ttt sessessens 12
CnnBSEXAI2 - Connector, Bus Support, EXpansion, AIUMINUM, 2"............c.oeneese ettt sttt sessesse s st sessesssans 12
CnnBSEXAI3-3BC - Connector, Bus Support, Expansion, Aluminum, 3", 3BC.........cccceinieiee ettt 12
CnnBSEXAI3 - Connector, Bus Support, EXpansion, AIUMINUM, 3"..........coeceieeiese ettt sttt s sesse s s sesssans 13
CnnBSEXAI4-3BC - Connector, Bus Support, Expansion, Aluminum, 4", 3BC..........cceerinieeeieeciee et ssssessesenas 13
CnnBSEXAI4 - Connector, Bus Support, EXpansion, AIUMINUM, 4"............oceceeese ettt se st b s s s s sesssans 13
CnnBSEXAI5 - Connector, Bus Support, EXpansion, AIUMINUM, 5"..........c.cieie ettt besse st b s s s s sssans 13
CnnBSEXAIB - Connector, Bus Support, EXpansion, AIUMINUM, B"............c.ceiriiieieieieiee ettt sttt s sessesse s sessesssans 13
CnnBSSIAI2-3BC - Connector, Bus Support, Slip, Aluminum, 2", 3BC..........cccociirieieccreeesse ettt tesse st sesanes 13
CnnBSSIAI2.5-3BC - Connector, Bus Support, Slip, Aluminum, 2.5", 3BC.........c.ciecereeeee ettt bbb, 14
CnnBSSIAI2.5 - Connector, Bus Support, SIip, AIUMINUM, 2.5"...........oieeeeeeeeeie ettt st b s bbbt s e 14
CnnBSSIAI2 - Connector, Bus Support, Slip, AIUMINUM, 2"...........cooiiieeiececeeteeese ettt sessessessessssssessessenee | &
CnnBSSIAI3-3BC - Connector, Bus Support, Slip, Aluminum, 3", 3BC..........cccocvmeieieiceeeeeeese ettt besses s sesanes 14
CnnBSSIAI3 - Connector, Bus Support, Slip, AIUMINUM, 3"........c.ooieeiececeesesee ettt essessessesssssessessenee | &
CnnBSSIAI4-3BC - Connector, Bus Support, Slip, Aluminum, 4", 3BC..........cccovieieieiccireeeeeese ettt besse st sesanes 14
CnnBSSIAl4 - Connector, Bus Support, SIip, AIUMINUM, 4"...........corieeie ettt sttt essesse s | D
CnnBSVIAI2-3BC - Connector, Bus Support, Vertical, Aluminum, 2", 3BC..........ccoouiiiiierieeeieeece ettt ss e, 15
CnnBSVIAI2.5-3BC - Connector, Bus Support, Vertical, Aluminum, 2.5, 3BC.........cooieirieriteieieie ettt 15
CnnBSVIAI2.5 - Connector, Bus Support, Vertical, AlUMINUM, 2.5"............coueirceneeieie ettt sttt b st be s 15
CnnBSVIAI2 - Connector, Bus Support, Vertical, AIUMINUM, 2"...........coiicceesie ettt bbbttt sans 15
CnnBSVIAI3-3BC - Connector, Bus Support, Vertical, Aluminum, 3", 3BC..........ccooueieirrieeeieee ettt sa e, 15
CnnBSVIAI3 - Connector, Bus Support, Vertical, AIUMINUM, 3"...........coieieeisiee ettt st naes 16
CnnBSVIAI4-3BC - Connector, Bus Support, Vertical, Aluminum, 4", 3BC..........cccouiieirreeeieee ettt ssnaes 16
CnnBSVIAI4 - Connector, Bus Support, Vertical, AIUMINUM, 4"...........c.oieeeeieie ettt sttt b st sans 16
CnnCmCFAI336AC - Connector, Compression, Cable to Flat, Aluminum, 336AC ...ttt sesaesaens 16
CnnCmCFAI336AC@15 - Connector, Compression, Cable to Flat, Aluminum, 336AC " @15°.........couurnrrneeneieieeineeseiseeeeeseeenes 16
CnnCmCFAI636AC - Connector, Compression, Cable to Flat, Aluminum, B36AC ...ttt sessessenaes 16
CnnCmCFAI636AC@15 - Connector, Compression, Cable to Flat, Aluminum, 636AC " @15°.........covrrrrnerreeeneiseeineeseiseeeeesenenes 17
CnnCmCFAI954AC - Connector, Compression, Cable to Flat, Aluminum, 954AC" ...ttt essesaenaes 17
CnnCmCFAI954AC@15 - Connector, Compression, Cable to Flat, Aluminum, 954AC " @15°........ccomnrrrnrnrneresessese s 17
CnnCpCCAI-477-795 - Connector, Coupler, Cable to Cable, AluminUM, 477-795........cc.cccreeeeieeetsetssie e, 17
CnnCpTCAI2-900-1250 - Connector, Coupler, Tube to Cable, Aluminum, 2", 900-1250.........ccccouererrireernireie et sessesanen, 17
CnnCpTCAI2.5-900-1250 - Connector, Coupler, Tube to Cable, Aluminum, 2.5", 900-1250..........cc.cccoermmireirerereeireieereeese e, 17
CnnCpTCAI3-900-1250 - Connector, Coupler, Tube to Cable, Aluminum, 3", 900-1250.........ccccooerririrrernireiee e, 18

CnnCpTCAI4-350-600 - Connector, Coupler, Tube to Cable, Aluminum, 4", 350-600...........ccceuerererreireriereiece et 18




Index (cont'd)

Unit - Description Page
Section Il - Connectors (cont'd)
CnnCpTCAI4-900-1250 - Connector, Coupler, Tube to Cable, Aluminum, 4", 900-1250.........ccccooerrrrerrmrnireie e, 18
CnnCpTFAI2.5 - Connector, Coupler, Tube to Flat, AlUMINUM, 2.5". ...ttt st 18
CnnCpTFAI4 - Connector, Coupler, Tube t0 Flat, AJUMINUM, 4"............oooimiieeeeeeie ettt bbbt bbb ans 18
CnnCpTTAI2.5 - Connector, Coupler, Tube to Tube, AIUMINUM, 2.5"............cooieieieeecee ettt 18
CnnCpTTAI2.5@45 - Connector, Coupler, Tube to Tube, Aluminum, 2.5 @45°..........cocrrrimrnrrresensises st 19
CnnCpTTAI2.5@90 - Connector, Coupler, Tube to Tube, Aluminum, 2.5 @90°..........covrrrirrnrrnieeesiseie st snens 19
CnnCpTTAI2 - Connector, Coupler, Tube t0 Tube, AIUMINUM, 2"...........cooieieieieeieeieeese ettt et sttt bbb sae e 19
CnnCpTTAI2@45 - Connector, Coupler, Tube to Tube, Aluminum, 2" @45°.........covrrrrnineree et ssnsees 19
CnnCpTTAI2@90 - Connector, Coupler, Tube to Tube, Aluminum, 2" @90°.........ccovrrirririnrineireieissesise e sssnsaees 19
CnnCpTTAI3 - Connector, Coupler, Tube t0 Tube, AIUMINUM, 3".........c.ooiieieeeeeee ettt bbbt b b e 19
CnnCpTTAI3@45 - Connector, Coupler, Tube to Tube, Aluminum, 3"@45°........covirrrenree ettt 20
CnnCpTTAI3@90 - Connector, Coupler, Tube to Tube, Aluminum, 3"@90°.........covurrririrrieeeesssss st 20
CnnCpTTAI4 - Connector, Coupler, Tube t0 Tube, AIUMINUM, 4"...........cooiiieiceeeeeieie ettt ettt bbb 20
CnnCpTTAI4@45 - Connector, Coupler, Tube to Tube, AluminumM, 4"@45°.........c.oourrerrnee st 20
CnnCpTTAI4@90 - Connector, Coupler, Tube to Tube, Aluminum, 4"@90°.........c.ovurrrririnrneeeessses st 20
CnnCpTTAI5 - Connector, Coupler, Tube t0 Tube, AIUMINUM, 5"........ccovuiiiieicecececeie ettt bbbt 20
CnnCpTTAI5@90 - Connector, Coupler, Tube to Tube, Aluminum, 5" @90°.........covurriiririrrireiee st 21
CnnCpTTAIB - Connector, Coupler, Tube to Tube, AIUMINUM, B"...........cceuueieirireeiieceie ettt bbb bbb 21
CnnCpTTAI6@45 - Connector, Coupler, Tube to Tube, Aluminum, 6" @45°.........c.ourrrnrnee st 21
CnnCpTTAIB@90 - Connector, Coupler, Tube to Tube, Aluminum, 6"@90°...........courrririrrireiee st 21
CnnGdCFBz - Connector, Ground, Cable t0 Flat, BIONZE...........cciiieieeceesseeeee sttt n et sres st s st en st 21
CnnPGCCAI-395-800 - Connector, Parallel Groove, Cable to Cable, Aluminum, 395-800..........c.cccoeueurirnernirereieerseieeiesesee s 21
CnnPGCCCU-4-20 - Connector, Parallel Groove, Cable to Cable, COPPEr, 4-20..........oorinrieieieieeiseieisessisees s sssssesssssnes 22
CnnPGCCCU-4-300 - Connector, Parallel Groove, Cable to Cable, Copper, 4-300..........cccovmrurriminineinriniesinsiseiessssssssssessessesseens 22
CnnPGCCCU1.25 - Connector, Parallel Groove, Cable to Cable, COPPET, 1.25"..........oriressnsseis st 22
CnnSrCCCu-750-1000 - Connector, Spacer, Cable to Cable, Copper, 750-1000..........ccccovmierrireminrinniriniesissiseesssssssssesessessssseens 22
CnnTeAFAI2.5-2@15 - Connector, Tee, A-Frame, Aluminum, 2.5", 2@15°........corimirrrrnininriseesssise et ssesssnsnees 22
CnnTeAFAI3-2.5@15 - Connector, Tee, A-Frame, Aluminum, 3", 2.5@15° . ...ttt 22
CnnTeAFAI4-2.5@15 - Connector, Tee, A-Frame, Aluminum, 4", 2.5@15° ..ot ssessneees 23
CnnTeAFAI6-3@15 - Connector, Tee, A-Frame, Aluminum, 6", @15 ...ttt 23
CnnTeCCAI900-1250 - Connector, Tee, Cable to Cable, Aluminum, 900", 1250.........ccccucrirrieieieicieeeeeeeee et 23
CnnTeCFAI900-1250 - Connector, Tee, Cable to Flat, Aluminum, 900", 1250...........ccvrrimeieeieeeseersserssssss st sssssssseesns 23
CnnTeTCAI1.5-4-250 - Connector, Tee, Tube to Cable, Aluminum, 1.5", 4-250.........covieiieeeerseeeees st sess st essssnens 23
CnnTeTCAI1.5-750-1250 - Connector, Tee, Tube to Cable, Aluminum, 1.5", 750-1250.........c..cccovemererirereireieeseessesssessesessssesss s 23
CnnTeTCAI2-2X750-1250 - Connector, Tee, Tube to Cable, Aluminum, 2", 2X750-1250........cccccovemriersrieriersieesseeseeesesessesessssnens 24
CnnTeTCAI2-750-1250 - Connector, Tee, Tube to Cable, Aluminum, 2", 750-1250.........cccovvvieriereieeere s ssessnes 24
CnnTeTCAI2.5-2-750-1250 - Connector, Tee, Tube to Cable, Aluminum, 2.5", 2-750-1250..........cccevrevrrerieeireseeeee s 24
CnnTeTCAI2.5-4-250 - Connector, Tee, Tube to Cable, Aluminum, 2.5", 4-250.........coiieriiereiereieeeeee st sessssesss s sessss e, 24
CnnTeTCAI2.5-750-1250 - Connector, Tee, Tube to Cable, Aluminum, 2.5", 750-1250...........cccovemeremirersiereeerssesssesssesse s 24
CnnTeTCAI3-2X750-1250 - Connector, Tee, Tube to Cable, Aluminum, 3", 2X750-1250........cccccovvemrrererieeieerneeessesrseeese s, 24
CnnTeTCAI3-750-1250 - Connector, Tee, Tube to Cable, Aluminum, 3", 750-1250........c.cccouvvierreerieeere s ssessnes 25
CnnTeTCAI4-2X750-1250 - Connector, Tee, Tube to Cable, Aluminum, 4", 2X750-1250........c.cccovrerveerereisierseessesssesse s sessssnens 25
CnnTeTCAI4-750-1250 - Connector, Tee, Tube to Cable, Aluminum, 4", 750-1250..........cccoerierreeieeereeeeesee s sseesnes 25
CnnTeTFAI1.5 - Connector, Tee, Tube to Flat, AIUMINUM, 1.5"....... ettt st 25
CnnTeTFAI2.5 - Connector, Tee, Tube t0 Flat, AIUMINUM, 2.5 ...ttt sttt ss st 25

CnnTeTFAI2 - Connector, Tee, Tube to Flat, AIUMINUM, 2" ...ttt e ettt sttt sttt 25




Index (cont'd)

Unit - Description Page
Section Il - Connectors (cont'd)
CnnTeTFAI3 - Connector, Tee, Tube to Flat, AIUMINUM, 3" ......eieeeeeeeeeeese ettt sttt en st 26
CnnTeTFAI4 - Connector, Tee, Tube to Flat, AIUMINUM, 4" ...ttt sttt sttt 26
CnnTeTFAI5 - Connector, Tee, Tube to Flat, AIUMINUM, 5" ...ttt sttt ettt st en sttt 26
CnnTeTFAI6 - Connector, Tee, Tube to Flat, AIUMINUM, B".......c.ovoiiieeeeeceeese ettt sttt sttt enens 26
CnnTeTTAI1.5 - Connector, Tee, Tube t0 Tube, AIUMINUM, 1.5 . ... ettt sttt 26
CnnTeTTAI2.5-2 - Connector, Tee, Tube to TUDbE, AIUMINUM, 2.5", 2......oueiieeeeeeeeeee sttt er sttt 26
CnnTeTTAI2.5-2@15 - Connector, Tee, Tube to Tube, Aluminum, 2.5", 2@ 15°........ccorrminrireieeneiseeessss st enssnsanes 27
CnnTeTTAI2.5 - Connector, Tee, Tube t0 TUDE, AIUMINUM, 2.5". ...ttt es sttt st 27
CnnTeTTAI2 - Connector, Tee, Tube t0 TUDE, AIUMINUM, 2" ..ottt s st ss sttt n et en st nee s 27
CnnTeTTAI3 - Connector, Tee, Tube to TUDE, AIUMINUM, 3" ....oveeieeeeeeee sttt sttt s et en sttt s s s s 27
CnnTeTTAI4-2.5 - Connector, Tee, Tube to TUDbE, AIUMINUM, 4", 2.5......comiieeeeeeeee sttt sttt 27
CnnTeTTAI4 - Connector, Tee, Tube t0 TUDE, AIUMINUM, 4" ..ottt s sttt n et en st sn st 27
CnnTeTTAI5 - Connector, Tee, Tube t0 TUDE, AIUMINUM, 5" .....ovieeeeeeeece ettt s sttt st st en st n et 28
CnnTeTTAIB - Connector, Tee, Tube to TUDE, AIUMINUM, B".........eiieieeeeeeceeeeesee ettt sttt s et en st nee s 28
CnnTICFAI750-1250@90 - Connector, Terminal, Cable to Flat, Aluminum, 750", 1250@090°..........cocruermmernmrreneineisseeseesneeeseeeens 28
CnnTICFAI900-1250 - Connector, Terminal, Cable to Flat, Aluminum, 900", 1250..........ccoeiieieeerieieeeeseese et 28
CnnTICFAI900-1250@45 - Connector, Terminal, Cable to Flat, Aluminum, 900", 1250@45°..........cocnrmrnrrnreneirneineeseeseseieeens 28
CnnTICFCu-2!0-800 - Connector, Terminal, Cable to Flat, Copper, 2/0-800..........c.ccooeuriirrirnireieieiiciseeeese et sesse et besses s 28
CnnTICFCu-2X500-2000 - Connector, Terminal, Cable to Flat, Copper, 2X500-2000..........cc.ccourrurmemrrnrrrrersenrinniseeeessssnssssesessessessnens 29
CnnTICFCu-4!0-1000 - Connector, Terminal, Cable to Flat, Copper, 4/0-1000..........ccccoeiruniurireieieieceeesieee et essesse s 29
CnnTICFCu4-250 - Connector, Terminal, Cable to Flat, COpper, 4", 250..........cccireieieicireieeiesese ettt sesse s bbb ssesanns 29
CnnTIECAI1 - Connector, Terminal, End Cap, AIUMINUM, 1" ..ottt ettt bbbt bbb 29
CnnTIECAI2.5 - Connector, Terminal, End Cap, AIUMINUM, 2.5"..........ccoieeeceeeee ettt sttt st 29
CnnTIECAI2 - Connector, Terminal, End Cap, AIUMINUM, 2"..........c.ociieeieieiecieeteetese et besaes et bbbttt ss s bbb s s s saes 29
CnnTIECAI3 - Connector, Terminal, End Cap, AIUMINUM, 3".........ciieieieieiecieetestese et esaes sttt bbbt bbb 30
CnnTIECAI4 - Connector, Terminal, End Cap, AIUMINUM, 4"..........c.ouiieieeeceeeetese ettt ettt bbbt s s bbb s s 30
CnnTIECAI5 - Connector, Terminal, End Cap, AlUMINUM, 5"..........c.iuieieieieeeeeeetese ettt bbbt se s bbb s s 30
CnnTIECAI6 - Connector, Terminal, End Cap, AIUMINUM, B"..........c.ccoiiieieieicieetestese ettt bbb b besse s bbb essessasans 30
CnnTIEXAI2.5 - Connector, Terminal, Expansion, AIUMINUM, 2.5"..........c.coiinieieie ettt bttt 30
CnnTIEXAI2 - Connector, Terminal, EXpansion, AIUMINUM, 2"............c.cceieieiecieeiesiese ettt sssesse s bessessesse s sessesssans 30
CnnTIEXAI3 - Connector, Terminal, EXpansion, AIUMINUM, 3"...........cc.oieieeecieeeeese ettt sttt se s bbb sasans 31
CnnTIEXAl4 - Connector, Terminal, EXpansion, AIUMINUM, 4"..............ccrieieeeeeeesie ettt b sttt se s s bbbt saesans 31
CnnTIEXAI5 - Connector, Terminal, EXpansion, AIUMINUM, 5"............c.ccieieicceseese ettt sttt se s bbb sanans 31
CnnTIEXAI6 - Connector, Terminal, EXpansion, AIUMINUM, B".............ccoeieieicicineieeiese ettt st esse st b s s sse s bessessesans 31
CnnTISCCu1.25-4!0-1000 - Connector, Terminal, Stud to Cable, Copper, 1.25", 4/0-1000..........ccccocmrrrrirrinrnrirrirrisississese s 31
CnnTISFAI1.25 - Connector, Terminal, Stud to Flat, AIUMINUM, 1.25 ...ttt st ss st 31
CnnTISFCu1.25 - Connector, Terminal, Stud to Flat, COPPET, 1.25" ...ttt 32
CnnTISFCu2.5 - Connector, Terminal, Stud t0 Flat, COPPEL, 2.5"........c.eeeceeeeeee ettt b bbb sae s 32
CnnTISFCu2.5@90 - Connector, Terminal, Stud to Flat, Copper, 2.5 @90°........cccovrimrrririneineieeeesississ st ssessessnenns 32
CnnTITFAI1.5 - Connector, Terminal, Tube to Flat, AIUMINUM, 1.5" ...ttt 32
CnnTITFAI1.5@90 - Connector, Terminal, Tube to Flat, Aluminum, 1.5"@90°........cccovurrrriminrrriesssssie st 32
CnnTITFAI2.5 - Connector, Terminal, Tube to Flat, AIUMINUM, 2.5" ...ttt ettt 32
CnnTITFAI2 - Connector, Terminal, Tube t0 Flat, AIUMINUM, 2"........oooeieeeeeece sttt st st sn s 33
CnnTITFAI3 - Connector, Terminal, Tube t0 Flat, AIUMINUM, 3".......ooeeeeeeeesece sttt sttt 33
CnnTITFAI4 - Connector, Terminal, Tube t0 Flat, AIUMINUM, 4"..........ooueeeeeeeeee sttt sttt 33

CnnTITFAI4@90 - Connector, Terminal, Tube to Flat, Aluminum, 4"@90°.........c.coeiiirreeeiee e 33




Index (cont'd)

Unit - Description Page

Section Il - Connectors (cont'd)
CnnTITFAI5 - Connector, Terminal, Tube t0 Flat, AIUMINUM, 5".......ooeoeieeieeeeeeeces sttt sttt st 33
CnnTITFAI6 - Connector, Terminal, Tube t0 Flat, AlUMINUM, B"..........ccuieiiieeseeeceese ettt st ss s 33

Section lll - Equipment
AssEquFCCL110 - Assembly, Equipment, Fuse Cutout, Current Limiting Fuse, 110KVBIL..........cccoovrrirnininerreinssese e 35
AssEQuLAIC-3-12kV - Assembly, Equipment, Lightning Arrestor, Intermediate Class, 3-12KV........ccccovrnnenrneninsneessissenenn. 35
EquBtLA-5X2.5 - Equipment, Bracket, Lightning ArreStor, 5X2.5..........cu sttt sse s snsessesans 35
EquBu110-2000(ABB) - Equipment, Bushing, 110kVBIL, 2000(ABB)...........ccuuurieirireiiisrineiseisseiseiessssssssssssssssesssessssssssssssessnss 35
EquBu150-2000(ABB) - Equipment, Bushing, 150KVBIL, 2000(ABB)...........c.ouuriiiririiiierinsiseisssiseisssssesssessssssssssssessssssssssssessnss 35
EquBu250-2000(ABB) - Equipment, Bushing, 250KVBIL, 2000(ABB)...........cuuuiiirireiiierineiseisneissisesssesssesssssessssssessssssssssssessnss 35
EquBu350-2000(ABB) - Equipment, Bushing, 350KVBIL, 2000(ABB)...........ccucuuieirireiiierineiseississiesseessssssssesssssssssssssssssssessnss 36
EquBu350-2000(Mitsubishi) - Equipment, Bushing, 350kVBIL, 2000(MitSUDISNI)..........cevureriuieienerrneineiseiseeieesesseisesesesseeseseeeens 36
EquBu650-2000(ABB) - Equipment, Bushing, 650KVBIL, 2000(ABB)...........couuuiuriiriiiierineiseisseisssssssse s st ssssssssssssessnss 36
EquBu750-2000(ABB) - Equipment, Bushing, 750KVBIL, 2000(ABB)...........ccouuuiiriireiiierieiseisssissssssssssssesssssessssssesssssssssssssessnss 36
EquCL110 - Equipment, Current LImiting FUSE, T10KVBIL.........ccovieiiireiniecisesisissss sttt essnsnens 36
EquCT110(ABB-KOR) - Equipment, Current Trf, 110KVBIL(ABB-KOR)........ccriuiiiirineineineissieeisesseissiesissse et 36
EquCT110(ABB-LG) - Equipment, Current Trf, 110KVBIL(ABB-LG)........cccriuiiiireiineineiseieieieiesisstsees sttt sesssssees 37
EquCT110(GE-JCD) - Equipment, Current Trf, 110KVBIL(GE-JCD).........cccriuiiiieriniineinsississese st ssssssssssssssssssssssssssens 37
EquCT110(GE-JCW) - Equipment, Current Trf, 110KVBIL(GE-JCW)........cocniiiierireieineissieeieesessssess st 37
EquCT110(GE-JKW) - Equipment, Current Trf, 110KVBIL(GE-JKW)........ouuiiiiriieenneiseiesieie et 37
EquCT150(ABB-KOR) - Equipment, Current Trf, 150KVBIL(ABB-KOR).........c.oiuiiiiririieieissiseieeseissssssssssse s ssessssssssssesens 37
EquCT150(ABB-LG) - Equipment, Current Trf, 150KVBIL(ABB-LG)........ccriuieiiriinieiseieeieeiseississsisess st sssssssssssssssssssees 37
EquCT150(GE-JKW) - Equipment, Current Trf, 150KVBIL(GE-JKW)........coouiiiiiireeinseieiesiesie et ssssssssens 38
EquCT250(GE-JKW) - Equipment, Current Trf, 250KVBIL(GE-JKW)........cuuiiiiiiiinesiesiesse et ssssssssssens 38
EquCT350(GE-JKW) - Equipment, Current Trf, 350KVBIL(GE-JKW)........ouuiiiiiiireieinseiesiesise st 38
EquFC110 - Equipment, FUSE CULOUL, T10KVBIL..........cvurieieiieiieieiecise ettt sttt 38
EquLAlIC-3-12kV(OB) - Equipment, Lightning Arrestor, Intermediate Class, 3-12kV(OB).........ccoucnrnineinnninseneeseisesseseeeenes 38
EquLASC-108-120kV(OB) - Equipment, Lightning Arrestor, Station Class, 108-120kV(OB)..........ccueerinerneeeeinseineeneesneeseeeeens 38
EquLASC-12-15kV(OB) - Equipment, Lightning Arrestor, Station Class, 12-15kV(OB).........cccoeuiiiineineinineississeseeseesseessseeens 39
EquLASC-132-144kV(OB) - Equipment, Lightning Arrestor, Station Class, 132-144KV(OB)..........cccucrinrnreneinseineeseeneesseeeens 39
EquLASC-18-24kv(OB) - Equipment, Lightning Arrestor, Station Class, 18-24KV(OB)..........ccccouureiiiininenessisessessssssseseeens 39
EquLASC-27-36kV(OB) - Equipment, Lightning Arrestor, Station Class, 27-36KV(OB)..........c.cceeiieineineneississesersseesseesesseens 39
EquLASC-3-10kV(OB) - Equipment, Lightning Arrestor, Station Class, 3-10KV(OB)..........cocrriiieineieseesisesssessesssseeeens 39
EquLASC-39-48kV(OB) - Equipment, Lightning Arrestor, Station Class, 39-48KV(OB).........cccocuiiiimrineeineneississeseeseesseesssseens 39
EquLASC-54-72kV(OB) - Equipment, Lightning Arrestor, Station Class, 54-72kV(OB)..........cccocnnnenneneeneenneenseneeneeneessenesenenen 40
EquLASC-90-96kV(OB) - Equipment, Lightning Arrestor, Station Class, 90-96KV(OB)..........cccccmeenmenreneeneerneenseneeneeneeneeenenenen 40
EquLu(Holophane) - Equipment, LUMIN@Ire(HOIOPRANE). ..ottt 40
EQUMC(TVA) - Equipment, Meter CabiNEI(TVA).........iuiuiiiieieeiseiieessisssissees sttt 40
EquMSRE110 - Equipment, Metal-Clad Switchgear, Roof Entrance, 110KVBIL............ccornininrninsese st ssessssenes 40
EQUTB(TVA) - EQUIDMENT, TESEBOX(TVA).. ... ciuierieeiieiieisesiesss sttt 40
EquTn110 - Equipment, Terminator, TT0KVBIL. ..ottt sttt sttt s sttt esnes 41
EquVT110(GE-JVW) - Equipment, Voltage Trf, 110KVBIL(GE-JVW)........ociieiniireiseiissiesie st ssssssssens 41
EquVT150(GE-JVW) - Equipment, Voltage Trf, 150KVBIL(GE-JVW)........ociiriiniieineinssissie sttt ssssssssens 41
EquVT250(GE-JVS) - Equipment, Voltage Trf, 250KVBIL(GE-JVS).........ccuiiririinineineiesinseiseississsisssssessssssssssssssssessssssssssssessnns 41
EquVT350(GE-JVS) - Equipment, Voltage Trf, 350KVBIL(GE-JVS).........cciirieiineiniiseiesieisseisssisssssssss s sssssssessssssssssssessnns 41

EquXf110 - Equipment, TranSformer, 110KVBIL..........c.oiriircisessee sttt sttt sttt ssnsnend 41




Index (cont'd)

Unit - Description Page

Section IV - Major Equipment
MjrBrSF110-1200(Siemens-SDV6) - Major Equipment, Breaker, SF6, 110kVBIL, 1200(Siemens-SDV6)...........ccoccvveneeneenerrnennn 43
MjrBrSF110-1250(ABB-R-Mag) - Major Equipment, Breaker, SF6, 110kVBIL, 1250(ABB-R-Mag).........ccocreverrrrmeeemnrireirnerrneineinees! 43
MjrBrSF150-1200(Siemens-SDV6) - Major Equipment, Breaker, SF6, 150kVBIL, 1200(Siemens-SDV6)...........ccoccvvenerneerneerernnn 43
MjrBrSF150-1250(ABB-R-Mag) - Major Equipment, Breaker, SF6, 150kVBIL, 1250(ABB-R-Mag).........ccoccovrvrrrrrerernerrerrneirneineinnes! 43
MjrBrSF250-1200(ABB-PMI) - Major Equipment, Breaker, SF6, 250kVBIL, 1200(ABB-PMI).........c.cocueremrrrmrireieeissiesisesisesseseseseenens 43
MjrBrSF350-1200(Mitsubishi-SFMT) - Major Equipment, Breaker, SF6, 350kVBIL, 1200(Mitsubishi-SFMT).........ccccoverinrinrinienenad 43
MjrBrSF350-1200(Siemens-SPS2) - Major Equipment, Breaker, SF6, 350kVBIL, 1200(Siemens-SPS2).........c.oceeieneeneenneennens 44
MjrBrSF550-1200(Siemens-SPS2) - Major Equipment, Breaker, SF6, 550kVBIL, 1200(Siemens-SPS2).........c.oceienneeneerneinns 44
MjrBrSF650-1200(Siemens-SPS2) - Major Equipment, Breaker, SF6, 650kVBIL, 1200(Siemens-SPS2).........c.oceeieneeneerneinnns 44
MjrBrSF750-1200(Siemens-SPS2) - Major Equipment, Breaker, SF6, 750kVBIL, 1200(Siemens-SPS2).........c.coceieneeneerneenens 44
MjrBrSF750-2000(ABB-PMI) - Major Equipment, Breaker, SF6, 750kVBIL, 2000(ABB-PMI)........ccccocuevemrrrerireierississisesisessessseseesens 44
MjrCSSF150-1200(S&C-2000) - Major Equipment, Circuit Switcher, SF6, 150kVBIL, 1200(S&C-2000).........comrurrrerrereerreerrerrereenenes 44
MjrCSSF1P110-1200(S&C-MarkV) - Major Equipment, Circuit Switcher, SF6, One Pole, 110kVBIL, 1200(S&C-MarkV).................: 45
MjrCSSF750-1200(S&C-2000) - Major Equipment, Circuit Switcher, SF6, 750kVBIL, 1200(S&C-2000).........covwerrerrereerneerrerereenenee 45
MjrCSSF750-1200(S&C-MarkV) - Major Equipment, Circuit Switcher, SF6, 750kVBIL, 1200(S&C-MarkV)..........ccccovvereeneenerrneenennne. 45
MjrCSSF750-1200(SS-CSH) - Major Equipment, Circuit Switcher, SF6, 750kVBIL, 1200(SS-CSH).........coconiumrunmrrrrreiniineireeirenene. 45
MjrCSSF750-1200(SS-CSV) - Major Equipment, Circuit Switcher, SF6, 750kVBIL, 1200(SS-CSV)......ccviimrireineineisrineeineerseenes 45
MjrLRSF750-1200(S&C) - Major Equipment, Line Rupter, SF6, 750kVBIL, 1200(S&C)........ccrvurrurmrimrrrrieirneineissierieesneisssesesenenee 45
MjrMS-13Bay - Major Equipment, Metal-Clad Switchgear, 13Bay..........ccouiinrininisensineiessissisesssesssesssssessesssssssesssssseness 40
MjrMS-6Bay - Major Equipment, Metal-Clad SWItchgear, BBay ...t 46
MjrRH-14x30 - Major Equipment, Relay HOUSE, 14X30.........cuiuiiiiriiicieiineiseieis sttt 46
MjrXfOI250-15mVA - Major Equipment, Transformer, Oil, 250KVBIL, 1TOMVA........cciirrnieeissssse s ssessssees! 46
MjrXfOI350-18mVA - Major Equipment, Transformer, Oil, 350KVBIL, 18MVA........ccoviiriernsesissse st ssessessees! 46
MjrXfOI750-100mVA - Major Equipment, Transformer, Oil, 750KVBIL, T00MVA.........cccoviminrnrirninrneessesisssessssssssssssssssesssnseesn 40
MjrXfOI750-30mVA - Major Equipment, Transformer, Oil, 750KVBIL, 30MVA.........ccovirnniesisessss s ssesssssees! 47

Section V - Insulators
InsSPPmMSS150 - Insulator, Station Post, Polymer, Standard Strength, 150KVBIL............ccvininrirnnisees e 49
InsSPPmSS200 - Insulator, Station Post, Polymer, Standard Strength, 200KVBIL.............cccovirinrirninnes s 49
InsSPPmSS250 - Insulator, Station Post, Polymer, Standard Strength, 250KVBIL.............corininiirninness oo 49
InsSPPmSS350 - Insulator, Station Post, Polymer, Standard Strength, 350KVBIL..........cc.corninriirninnee s 49
InsSPPmSS550 - Insulator, Station Post, Polymer, Standard Strength, 550KVBIL..........cccoviniiniirnnnees s 49
InsSPPmSS650 - Insulator, Station Post, Polymer, Standard Strength, 650KVBIL.............ccoviririrninnse s 49
InsSPPmSS750 - Insulator, Station Post, Polymer, Standard Strength, 750KVBIL.............ccorininrirninises s 50
InsSPPmMSS900 - Insulator, Station Post, Polymer, Standard Strength, Q00KVBIL.............coovinirriirninnresese s 50
InsSPPrEH095 - Insulator, Station Post, Porcelain, Extra High Strength, 095KVBIL.............ccovirrininiiresnssee s 50
InsSPPrEH110 - Insulator, Station Post, Porcelain, Extra High Strength, 110KVBIL..........ccccovireninieescesee e 50
InsSPPrEH150 - Insulator, Station Post, Porcelain, Extra High Strength, 150KVBIL...........cccovirrininieescnesee s 50
InsSPPrEH200 - Insulator, Station Post, Porcelain, Extra High Strength, 200KVBIL............ccoovirrininrresnssee s 50
InsSPPrEH250 - Insulator, Station Post, Porcelain, Extra High Strength, 250KVBIL...........cccovrrrinininressese s 51
InsSPPrEH350 - Insulator, Station Post, Porcelain, Extra High Strength, 350KVBIL............ccovirininirsscnsse e 51
InsSPPrEH550 - Insulator, Station Post, Porcelain, Extra High Strength, 550KVBIL...........cccovirininrresnee e 51
InsSPPrEH650 - Insulator, Station Post, Porcelain, Extra High Strength, 650KVBIL.............coovirininrressesee s 51
InsSPPrEH750 - Insulator, Station Post, Porcelain, Extra High Strength, 750KVBIL............ccoovirininrrescnese e 51
InsSPPrEH900 - Insulator, Station Post, Porcelain, Extra High Strength, Q00KVBIL.............ccooirininrrrescnesee s 51
InsSPPrTR202 - Insulator, Station Post, Porcelain, ANSI TR202.........c.ooiiiceeeeece sttt ss s ses st snes sttt 52

InsSPPrTR205 - Insulator, Station Post, Porcelain, ANSI TR205.........c.o ettt ssssse st ss sttt sns sttt 52




Index (cont'd)

Unit - Description Page

Section V - Insulators (cont'd)
InsSPPrTR208 - Insulator, Station Post, Porcelain, ANSI TR208.............oiiiceeeeece sttt ss sttt snss st 52
InsSPPrTR210 - Insulator, Station Post, Porcelain, ANSI TR2T0.......c.cuiiceeeeeeseeeee ettt ss sttt snss st 52
INsSPPrTR214 - Insulator, Station Post, Porcelain, ANSI TR2T4........... ettt ss st ss sttt sns sttt 52
InsSPPrTR216 - Insulator, Station Post, Porcelain, ANSI TR2TB.........c.oicieieeeeeeeee sttt ss sttt ss sttt ssss st 52
INsSPPrTR222 - Insulator, Station Post, Porcelain, ANSI TR222...........o.oeeceeeeece sttt es st ssssss st ss sttt ssss st s e enens 53
INsSPPrTR225 - Insulator, Station Post, Porcelain, ANSI TR225........c.o ettt ss sttt ses st ssss ettt 53
INsSPPrTR227 - Insulator, Station Post, Porcelain, ANSI TR227 ... esese st es st ss st ss sttt ssss st sas s snens 53
INsSPPrTR231 - Insulator, Station Post, Porcelain, ANSI TR23T ...ttt sn st ses st st ssss st sn st 53
INsSPPrTR267 - Insulator, Station Post, Porcelain, ANSI TRZ2B7 ...t es s ss st ss sttt ssss st sn s enens 53
InsSPPrTR278 - Insulator, Station Post, Porcelain, ANSI TR2T78........c. et sttt ssssts st ss sttt snss sttt 53
InsSPPrTR286 - Insulator, Station Post, Porcelain, ANSI TR28B.............oiiiiieeseeece ettt ses st ss sttt enens 54
INsSPPrTR287 - Insulator, Station Post, Porcelain, ANSI TR287 ...ttt ss st ss sttt sss sttt sn s enens 54
InsSPPrTR288 - Insulator, Station Post, Porcelain, ANSI TR288..........o.oicceeesece ettt ses st ssss sttt 54
InsSPPrTR289 - Insulator, Station Post, Porcelain, ANSI TR28...........o ettt ss sttt sttt sttt 54
INsSPPrTR291 - Insulator, Station Post, Porcelain, ANSI TR29T ...ttt sttt sns sttt nae s 54
INsSPPrTR295 - Insulator, Station Post, Porcelain, ANSI TR295.........c. ettt ss sttt snss st 54
InsSPPrTR304 - Insulator, Station Post, Porcelain, ANSI TR304...........ooiieiee ettt sttt sss sttt enens 55
InsSPPrTR308 - Insulator, Station Post, Porcelain, ANSI TR308..........ooiiicesesece st ses st ss st 55

Section VI - Structures
AssStrBrOHT1101 - Assembly, Structure, Breaker, Overhead, T11, 15KV ...t ssesssssnsses 57
AssStrBrOHT1201 - Assembly, Structure, Breaker, Overhead, T12, 15KV ... sssssesssssanes 57
AssStrBrOHT2101 - Assembly, Structure, Breaker, Overhead, T21, 15KV ...t sssssssssssnnes 57
AssStrBrOHT2201 - Assembly, Structure, Breaker, Overhead, T22, 15KV ..ot sssssesssssnes 57
AssStrBrUGT1101 - Assembly, Structure, Breaker, Underground, T11, 15KV ..o 57
AssStrBrUGT1201 - Assembly, Structure, Breaker, Underground, T12, 15KV ........ccvririninninssssnsssie s sssssessssees 57
AssStrBrUGT2101 - Assembly, Structure, Breaker, Underground, T21, 15KV ..o ssesessessnsees 58
AssStrBrUGT2201 - Assembly, Structure, Breaker, Underground, T22, 15KV........c.ovrrrninrinsnssssss st essssessssanes 58
AssStrMg3P01-17 - Assembly, Structure, Metering, Three Pole, 15KV, 17" ...t 58
AssStrMg4P01-17 - Assembly, Structure, Metering, FOUr Pole, 15KV, 17".......c.. ettt 58
AssStrMg4P02-17 - Assembly, Structure, Metering, FOUr Pole, 25KV, 17".......c..oecsses sttt 58
AssStrSw3PVB04-18 - Assembly, Structure, Switch, Three Pole, Vertical Break, 46KV, 18'.........c.ccooveernrneessneseeessnieens 58
AssStrSw3PVBO04-27 - Assembly, Structure, Switch, Three Pole, Vertical Break, 46KV, 27" ... 59
AssStrSw3PVB06-18 - Assembly, Structure, Switch, Three Pole, Vertical Break, 69KV, 18"..........cc.covrrninerereeneseesssniens 59
AssStrSw3PVBO06-27 - Assembly, Structure, Switch, Three Pole, Vertical Break, 69KV, 27"..........cccoovvreinrnenrsssneseessssseeens 59
AssStrSw3PVB16-18 - Assembly, Structure, Switch, Three Pole, Vertical Break, 161KV, 18'..........ccovrrnerirresneseeissesieens 59
AssStrSw3PVB16-27 - Assembly, Structure, Switch, Three Pole, Vertical Break, 161KV, 27"..........ccovvennrnriesnsseeissseseeens 59
AssStrSw3PVe01-32 - Assembly, Structure, Switch, Three Pole, Vee Switch, 15KV, 32'.........ooesesre s 59
AssStrSw3PVe06-21 - Assembly, Structure, Switch, Three Pole, Vee Switch, 6KV, 21"..........co ] 60
AssStrSw4PVB02-18 - Assembly, Structure, Switch, Four Pole, Vertical Break, 25KV, 18'............ccovnrninneesnsse ] 60
AssStrSw4PVe01-18 - Assembly, Structure, Switch, Four Pole, Vee Switch, 15KV, 18'.........cvrreescs s 60
AssStrSw4PVe01-20 - Assembly, Structure, Switch, Four Pole, Vee Switch, 15KV, 20'..........cooreninieeene s sesinend 60
AssStrSw4PVe01-21 - Assembly, Structure, Switch, Four Pole, Vee Switch, 15KV, 21".........oseeere s 60
FNCBI-5X15 = FENCE, BIOCK, DXT5'.... ettt bbb bbb bbb bbb b b s bbb bbb b e b e b e b e b e b e b e b et e b e b e b e b et et e b s b e b et e b ebsbabebebasas 60
FNCBI-5X9 = FENCE, BIOCK, DXT'.....oeieieiecececectcctstete ettt bbbt b bbb bbb bbb b st e b e b s b s b s b e bsbsbsbsbabababsbabarasaraseresnsena 61
FNCCK-5X9 - FENCE, Chain LINK, 5X9 ... ..ottt sttt sttt sttt st s sttt ss sttt st s b bt st enss b et et ss s et et ssnee b et et snss st assnnsernad 61

FNCCP-10 - FENCE, COMEI POSE, 10 ...ttt ese st ss st st s et st sn et sss s s es s s s sessssnsnsesassnnsesensnas 61




Index (cont'd)

Unit - Description Page
Section VI - Structures (cont'd)
FRCGE-10 - FENCE, GAE, 10 ... ..ottt sttt sttt s st e st s b bt st en s bt tse s e et st st s s e b et et ense b et et ss s e et et et ensstat et snsneetasssneas) 61
FRNCGE-20 - FENCE, GALE, 20 ... ..ottt ettt sttt st s sttt s st e st s b bt st sn s e b bt se s e e b et st en s e b et et enss b et et ss s eeb et et ensstat et snsneesasssneas) 61
FNCLP-10 = FENCE, LINE POSE, 10'........ooeceeeeecessese sttt sttt sttt sttt sttt sttt st sttt sttt sttt sttt s bt st s b st st st st st st st st st st sn st st st st st snensnsnana) 61
StBIT1101 - SrUCIUIE, BrEAKET, TT1, 15KV ...ttt sttt sttt et st s bt ss s sttt snsn et et en s s e banen s 62
StrBIT1102 - SrUCIUIE, BrEAKET, T11, 25KV ...ttt sttt sttt ss s bt st s s bt ss s e ettt snane et et ssensebassnans 62
StrBrT1104 - StrUCIUE, BrEAKEE, T11, ABKV ...ttt ettt st ss sttt st s st ss s sttt snsne et et esneebasanas 62
StrBrT1106 - StrUCIUE, BrEAKEE, T11, BOKV ...ttt ettt s et ss st tse s e bt ss s s ettt snsn e b et en s sebananans 62
StrBrT1116 - StrUCIUE, BrEaKEI, T11, TBTKV ..ottt sttt sttt sttt sn sttt st s et sten s e bt sn s et snenees 62
StrBrT1201 - StrUCHUE, BrEAKET, T12, 15KV ...ttt ettt bttt et se s st st ss s s ettt snsne et et ssnsebatsnans 62
StrBrT1202 - StrUCHUIE, BrEAKET, T12, 25KV ...ttt sttt ettt sttt sttt ss bt t st s s bt ss s s st sssnsne s et snensebasanans 63
StrBrT1204 - StrUCHUIE, BrEAKET, T12, ABKV ........eeieeeeeeeeeeeeeeeese ettt ettt sttt s et es st ss bt st s s bt ss s s s bt st snsnse b et ssensebasanans 63
StrBrT1206 - StrUCIUE, BrEaKEE, T12, BOKV ......e.eeeeeeeeeeeeee ettt sttt s st s st ss s bt st s s bt ss s se bt st sn s e et et sn s eebasanas 63
StrBrT1216 - StrUCIUE, BrEaKEr, T12, TBTKV ...ttt st ettt st s st sn bbb ss st et st enss et tsn s st s s enens 63
StrBrT2101 - StrUCHUE, BrEAKET, T2, 15KV ...ttt sttt bttt et st st ss s et essn s st et sn s ee bt snans 63
StrBrT2201 - StrUCHUE, BrEAKET, T22, 15KV ...ttt sttt sttt s ettt ss st st s st ss s et sssn s st et enense et anans 63
StrBrT3101 - StrUCIUE, BrEAKET, T3, 15KV ...ttt ss sttt s bbbt st st ss s st stsn s et et ss s eebasanans 64
StrDeAF16-39 - Structure, Deadend, A-Frame, 181KV, 39 . ... ettt bttt sn st ss st ss s an s 64
StrDeHh04-25 - Structure, Deadend, H-StrUCIUIE, 48KV, 25'.........oooeeeeieeseeeee ettt es e et es st ss s sn st sn sttt sn s sn s 64
StrDeHh06-25 - Structure, Deadend, H-StrUCLUIE, BIKV, 25'.........ooeeeeeceeseeeee ettt st ss s ss st sn st sn s s enees 64
StrDeHh16-32 - Structure, Deadend, H-StrUCIUIE, T8TKV, 32'........ ettt es st ettt sa st n sttt 64
StrDeHh16-62 - Structure, Deadend, H-StrUCIUIE, T8TKV, B2'...........ooieeeeeeeeeceeeesee ettt es st ss s sas st en sttt en st 64
StrLM-65 - Structure, LIGhtniNg Mast, B5'............cviuriirieinieriseie sttt ses 65
StrLM-75 - Structure, LIGhtnING MASE, 75'..........c.rrieirieeissiseie sttt 65
StrLM-85 - Structure, LIGhtning Mast, 85'............coiiiirinissseis sttt 65
StrMg3P01-17 - Structure, Metering, Three POIE, 15KV, 17" ...ttt nses 65
StrMG4P01-17 - Structure, Metering, FOUr POIE, 15KV, 17" ...ttt 65
StrMg4p02-17 - Structure, Metering, FOU POIE, 25KV, 17" ...ttt sttt 65
StrPi01-18 - StruCtUre, Pi-SITUCIUIE, 15KV, 18'.....ceeeeeeeee ettt s et s sttt sn st st sn st st sn s sassnanens 66
StrPI01-21 - StrUCIUIE, Pi-SITUCIUIE, TOKV, 21 ...ttt ss sttt s s et s st ss sttt st sttt sn st sssnnse s ananens) 66
StrPi01-22 - StruCtUre, Pi-SITUCIUIE, TOKV, 22'.......e ettt sttt s s ettt sttt st sn st sssnnes s snanens 66
StrPi02-18 - StructUre, Pi-SITUCIUIE, 25KV, 18'......eeeeeeee ettt es st s st n sttt sttt sn sttt snnes s snanans 66
StrPi02-22 - StruCtUre, Pi-SITUCIUIE, 25KV, 22'.........eeeeeeeeeeeee ettt s st ss sttt s st s st n et en st sn st sssnnessasananens) 66
StrPi04-16 - Structure, Pi-SITUCIUIE, 4BKY, 10'........eeieeceeeeeeee ettt sttt s st n sttt st sn st sssnnee s snanens) 66
StrPi04-19 - Structure, Pi-StTUCIUIE, 4BKY, 19 ...ttt sttt sttt s st s st ss sttt s sttt snnes s snanens 67
StrPi04-20 - Structure, Pi-StTUCIUIE, 48KV, 20'........c.eieeceeeeeeee ettt sttt s et s st ss st st sttt sn sttt snnes s snanens ) 67
StrPi04-22 - Structure, Pi-SITUCIUIE, 4BKY, 22'.........oeeeeeeeeeeee ettt sttt s st n st ss st st st sn sttt snnes s snanans) 67
StrPi06-16 - Structure, Pi-StTUCIUIE, BOKY, 10'........eeieeeceeeeeeeee ettt ss sttt s st s st ss s ss st sn st st snnes s s snens ) 67
StrPi06-20 - Structure, Pi-StrUCIUIE, BOKY, 20'.........c.eieeceeeeeeeeee ettt sttt ss sttt s et s st s et ss st sn sttt snnse s snenans) 67
StrPi06-22 - Structure, Pi-StTUCIUIE, BOKY, 22'.........oeeeeeeeeeeeeee ettt ss sttt s s st s st ss sttt n st sn sttt snnse s s anens) 67
StrPi16-13 - StrUCIUE, Pi-SITUCIUIE, T8TKV, 13 ..ottt sttt st s st ettt ss s ettt en s bt ten s et ss s eebasan s 68
StrPi16-18 - StrUCIUrE, Pi-SITUCIUIE, TBTKV, 181 ... oottt sttt ettt ss s ettt es s bt en s et ss s st san s 68
StrPi16-22 - StrUCIUrE, Pi-SITUCIUIE, T8TKV, 22.......coeeeeeeeeeeeee sttt sttt sttt s st ettt ss s ettt en st ten s s et et snsnse e tanas 68
StrSSBrT13201 - Structure, Substation, Breaker, T32, 15KV ...ttt esse sttt ss st en sttt st 68
StrSw3PVB02-18 - Structure, Switch, Three Pole, Vertical Break, 25KV, 18'...........u et sesss s sssss st esee s 68
StrSw3PVB04-14 - Structure, Switch, Three Pole, Vertical Break, 46KV, 14 ...t esesss s ssses s s 68
StrSw3PVB04-19 - Structure, Switch, Three Pole, Vertical Break, 46KV, 19'.........oo ettt sssss s s 69




Index (cont'd)

Unit - Description Page

Section VI - Structures (cont'd)
StrSw3PVB04-21 - Structure, Switch, Three Pole, Vertical Break, 46KV, 271'...........o ettt sses s ssssss s ss s 69
StrSw3PVB04-25 - Structure, Switch, Three Pole, Vertical Break, 46KV, 25 ...ttt esee s ssesss st ss s 69
StrSw3PVB06-15 - Structure, Switch, Three Pole, Vertical Break, BIKV, 15'.........o ettt ssee s ssssss s sn s 69
StrSw3PVB16-10 - Structure, Switch, Three Pole, Vertical Break, 161KV, 10'..........cieeeeeeees et ss s 69
StrSw3PVB16-12 - Structure, Switch, Three Pole, Vertical Break, 161KV, 12'.........o e ssses s esse s 69
StrSw3PVB16-20 - Structure, Switch, Three Pole, Vertical Break, 161KV, 20'...........coiieeeeeeeeeseee st ss s 70
StrSw3PVe01-16 - Structure, Switch, Three Pole, Vee SWItCh, 15KV, 16'........oe ettt 70
StrSw3PVe01-18 - Structure, Switch, Three Pole, Vee SWItCh, 15KV, 18/ ...ttt 70
StrSw3PVe01-19 - Structure, Switch, Three Pole, Vee SWItCh, 15KV, 19\ ...ttt 70
StrSw3pVe01-32 - Structure, Switch, Three Pole, Ve SWItch, 15KV, 32'..........oeeccreeee ettt 70
StrSw3PVe04-23 - Structure, Switch, Three Pole, Vee SWItCh, 48KV, 23'..........e et 70
StrSw3PVe06-14 - Structure, Switch, Three Pole, Vee SWItCh, BOKY, T4 ...t 71
StrSw3PVe06-23 - Structure, Switch, Three Pole, Vee SWItCh, BOKY, 23'.........e ettt 71
StrSw4PVe01-16 - Structure, Switch, Four Pole, Veg SWItch, 15KV, 16'..........occiecereeeesseeres s sessse s sssesssssssssssssssesensd
StrSw4PVe01-17 - Structure, Switch, Four Pole, Veg SWItCh, 15KV, 17" ... sseeee s stssse s sssssssssnessesssssenens d
StrSw4PVe01-18 - Structure, Switch, Four Pole, Veg SWItCh, 15KV, 18'..........ocieerseeesseeee e stssse s sssessssssssssssssseseens d
StrSw4PVe01-20 - Structure, Switch, Four Pole, Vee SWItch, 15KV, 20"...........cieeeeecesseeees s sessse s sssssessssssssssssseseensd
StrSw4PVe01-22 - Structure, Switch, Four Pole, Vee SWItCh, 15KV, 22'...........oeeeseeecesseere s sse s sss s sssssnsesssnenes [ 2
StrSw4PVe02-18 - Structure, Switch, Four Pole, Vee SWItCh, 25KV, 18'.........oeeeeeeercessese s sse s ss s ssssnsesssnenes [ 2
StrSw4PVe02-22 - Structure, Switch, Four Pole, Vee SWItCh, 25KV, 22'............eeeeeeeteesseese s esessse s esessssssnsesesnenes [ 2
SHTS0T-17 = STUCHUIE, T-STTUCIUIE, TOKV, 17 ..ottt bttt s et ss et ss s sttt sn s et et enns et asan s 72
StTS01-18 - SHTUCIUIE, T-STTUCIUIE, TOKV, 8.ttt ettt st st bbb se s sttt snsn et et en s eebatan s 72
StTS01-22 - SHTUCIUIE, T-STTUCIUIE, TOKV, 22'.......oeeeeeeeeeeeee ettt ettt s st s st s st st s et ss s sttt sssn et et en s eebananans 72
StrTS02-18 - SHTUCIUE, T-STTUCIUIE, 25KV, 18'......eeeeeeeeee ettt ettt sttt s s s bbb ss s s ettt snsn et et ss s e e batanans 73
StTS02-22 - SHTUCHUIE, T-STTUCIUIE, 25KV, 22'.......coeeeeeeeeeeeee ettt ee sttt st st s et es st t st s bbb ss s s ettt sn s e et et ss s sebasanans 73

Section VIl - Switches
SwtCB1P110-1200(USCO) - Switch, Center Break, Single Pole, 110kVBIL, 1200(USCO).......c.cucumiurreneeriieieeieeineesneissiseessessseenees 75
SwtCB1P150-1200(USCO) - Switch, Center Break, Single Pole, 150kVBIL, 1200(USCO).........cvcumiuerreereiniieeierineesneeseisessessseenees 75
SwtCB1P200-1200(USCO) - Switch, Center Break, Single Pole, 200kVBIL, 1200(USCO).......c.vcumiurreneereiiieeirereneesneisssisessessssenees 75
SwtCB1P250-1200(USCO) - Switch, Center Break, Single Pole, 250kVBIL, 1200(USCO).........cucumiurrrmeerieneieeieerneesneisssiesssessseenees 75
SwtCB1P350-1200(SS) - Switch, Center Break, Single Pole, 350KVBIL, 1200(SS)........couuuierrereiiieeineesneesneissiseesseesssessssessssenss 75
SwtCB1P350-1200(USCO) - Switch, Center Break, Single Pole, 350kVBIL, 1200(USCO).......c.cuvumiumrierreiniieeieeeneesneissiesssessseenees 75
SwtCB1P550-1200(USCO) - Switch, Center Break, Single Pole, 550kVBIL, 1200(USCO).........cuvumiurrrerreeneieeieeineesneissiessseesseenees 76
SwtCB1P650-1200(USCO) - Switch, Center Break, Single Pole, 650kVBIL, 1200(USCO).........cuvumiumrrnerreineiseieeineesneiseiesssessssenees 76
SwtCB1P750-1200(SS) - Switch, Center Break, Single Pole, 750KVBIL, 1200(SS)........ccouuumierrrneeiiieeineesneesneissisessseessessseseseesenss 76
SwtCB1P750-1200(USCO) - Switch, Center Break, Single Pole, 750kVBIL, 1200(USCO).......covcumiumrrrmerrniineiseierineesneissiessseesseenees 76
SwtCB3P550-1200(USCO) - Switch, Center Break, Three Pole, 550kVBIL, 1200(USCO).......c.uvuiurenmerneineineierineiseisseisesseeseenees 76
SwtCB3P650-1200(USCO) - Switch, Center Break, Three Pole, 650kVBIL, 1200(USCO).......ccvruiemrenerneeneineieiineisseisssssseesssseenees 76
SwtHS1P110-1200(SS) - Switch, Hook Stick, Single Pole, 110KVBIL, 1200(SS).......c.cccmrrmrirerrrererinsisssisssssessesssssesssessssssesssssssssennd
SwtHS1P110-1200(USCO) - Switch, Hook Stick, Single Pole, 110kVBIL, 1200(USCO)........ccccomvrrrrrererissiesisesiseessesssessessesssesssesens 77
SwtHS1P150-1200(SS) - Switch, Hook Stick, Single Pole, 150KVBIL, 1200(SS).........ccccmrrmirrerrreirerinsisssessssssessssssesssssssssssssssssssennd
SwtHS1P150-1200(USCO) - Switch, Hook Stick, Single Pole, 150kVBIL, 1200(USCO)........cccomrvrrrrrrreriesiesiesiseessessesssessesssesssnsens 77
SwtHS1P250-1200(SS) - Switch, Hook Stick, Single Pole, 250KVBIL, 1200(SS).......c.cccmrmiererreererississsisssssssessssssessssssessssssssssssssnnd
SwtHS1P250-1200(USCO) - Switch, Hook Stick, Single Pole, 250kVBIL, 1200(USCO)........cccomrrrrreerissiesisesisesessessesssessesssesssssens 77
SwtHS1P350-1200(SS) - Switch, Hook Stick, Single Pole, 350KVBIL, 1200(SS).........uvururrereerneineierinersneenneissiessnesssessssssssssesnees /9
SwtHS1P350-1200(USCO) - Switch, Hook Stick, Single Pole, 350kVBIL, 1200(USCO)........cccomrvrmrrrrreriesiesisesiseessessessssssssssesssssens 78




Index (cont'd)

Unit - Description Page
Section VIl - Switches (cont'd)
SwtHS1P750-1200(SS) - Switch, Hook Stick, Single Pole, 750kVBIL, 1200(SS)........curereeerreeneesnerineessessseessssssesesssssssessssneesed
SwtHV1P110-1200(USCO) - Switch, Hook Stick Vee, Single Pole, 110kVBIL, 1200(USCO)........ccovvurrerrremeerrerineereeeseeseesseesseennes 78
SwtHV1P150-1200(USCO) - Switch, Hook Stick Vee, Single Pole, 150kVBIL, 1200(USCO)........ccovruiumrrenreinrineisienseiseerseesseieeeeeenes 78
SwtHV1P250-1200(USCO) - Switch, Hook Stick Vee, Single Pole, 250kVBIL, 1200(USCO)........covruiummrrnrrneineisiereeineesseesseeseeeeeenes 78
SwtHV1P350-1200(USCO) - Switch, Hook Stick Vee, Single Pole, 350kVBIL, 1200(USCO).......ccvruiimrrnirneiniesiineeineesneesseieeeeeenes 79
SwtOpGP - Switch, Operator, GrOUNG PIALE...........cccuueiueicieiectecee ettt bbbttt bbbt aenaees 79
SWEOPSA - SWitch, OPErator, SWING AMM........c.oiueirieiirieiseiesis ettt sttt 79
SWEOPWG - Switch, Operator, WOIM G ..ottt ettt bbb bbbt s ae bbbt s bbbt et ntsans 79
SwtRB1P110-1200(SS) - Switch, Regulator By Pass, Single Pole, 110KVBIL, 1200(SS)........cccevmreiemeierineerneineesseeseesseesseessseeeens 79
SwtRB1P110-1200(USCO) - Switch, Regulator By Pass, Single Pole, 110kVBIL, 1200(USCO).........ccocrrrrmeermeirirreireerneerneiseieeeneenne. 79
SwtRB1P150-1200(SS) - Switch, Regulator By Pass, Single Pole, 150KVBIL, 1200(SS)........cccurerririerineerneeseesseeseesseesseessseeeens 80
SwtRB1P150-1200(USCO) - Switch, Regulator By Pass, Single Pole, 150kVBIL, 1200(USCO)........ccccovmrirminienrirriniinsiseiseeseseseneenns 80
SwtSB1P110-1200(USCO) - Switch, Side Break, Single Pole, 110kVBIL, 1200(USCO)........cccnmeureemeererineernerisseeseeeeseesssesseesessennes 80
SwtSB1P150-1200(USCO) - Switch, Side Break, Single Pole, 150kVBIL, 1200(USCO).......c.covuureiemeierieirneerssissiserseesssissessesesenes 80
SwtSB1P250-1200(USCO) - Switch, Side Break, Single Pole, 250kVBIL, 1200(USCO).......c.coeureiemrrerieirneirseissisessseesseessesseseeense 80
SwtSB1P350-1200(USCO) - Switch, Side Break, Single Pole, 350kVBIL, 1200(USCO)........ccmmeuriemeererinneeserisssesaseessesssessessessennes 80
SwtVB1P110-1200(SS) - Switch, Vertical Break, Single Pole, 110KVBIL, 1200(SS).......ccuuurrerrrreirierineisneeneessiseesseessessssssesesesenss 81
SwtVB1P110-1200(USCO) - Switch, Vertical Break, Single Pole, 110kVBIL, 1200(USCO).......cccccoureemeermrrrrmeerrienneeseeeesseessseesseesseennes 81
SwtVB1P150-1200(SS)-1 - Switch, Vertical Break, Single Pole, 150KVBIL, 1200(SS)-1......c.vrerrrererreeneerneeeneeseesseesesssessesssseenns 81
SwtVB1P150-1200(SS) - Switch, Vertical Break, Single Pole, 150kVBIL, 1200(SS).......c.ouwurrererrreneesereseesserssesssessseesesssssesssennes 81
SwtVB1P150-1200(USCO) - Switch, Vertical Break, Single Pole, 150kVBIL, 1200(USCO)........cocmrurrrrrneirnieneiesiseeiseesseiseeiseseeenee 81
SwtVB1P250-1200(SS) - Switch, Vertical Break, Single Pole, 250kVBIL, 1200(SS)........couweriererreeeerereneeseesssessesssseesesssseesssennes 81
SwtVB1P250-1200(USCO) - Switch, Vertical Break, Single Pole, 250kVBIL, 1200(USCO)........cocmremirrmrieirniineierireesseesneissesseseeenes 82
SwtVB1P350-1200(SS) - Switch, Vertical Break, Single Pole, 350KVBIL, 1200(SS).........uuurrerrrreeirieeineeseesseissesesssessssessesessesenss 82
SwtVB1P350-1200(USCO) - Switch, Vertical Break, Single Pole, 350kVBIL, 1200(USCO)........cocmrurinrrreirneineierirerineisneieeieeseeenes 82
SwtVB1P550-1200(USCO) - Switch, Vertical Break, Single Pole, 550kVBIL, 1200(USCO)........cocmreirrrreirniineierirerineesssiseeeeseeenes 82
SwtVB1P650-1200(USCO) - Switch, Vertical Break, Single Pole, 650kVBIL, 1200(USCO)........cocmrumrerrireerniinrierineisseeneiseeseeeeeene. 82
SwtVB1P750-1200(SS) - Switch, Vertical Break, Single Pole, 750kVBIL, 1200(SS).........ouwuurrererrrineesereseessessseesesssseesesssssssssennes 82
SwtVB1P750-1200(USCO) - Switch, Vertical Break, Single Pole, 750kVBIL, 1200(USCO)........cocmrirerrreinineierirsrsneiseiseeseeeeeenee 83
SwtVB3P110-1200(USCO) - Switch, Vertical Break, Three Pole, 110kVBIL, 1200(USCO)........cocurrumrerrirneiiieeirerineineiseisessseeseenees 83
SwtVB3P150-1200(USCO) - Switch, Vertical Break, Three Pole, 150kVBIL, 1200(USCO)........cocrrurrerrirneieierierineisseiseissesseesseenees 83
SwtVB3P250-1200(USCO) - Switch, Vertical Break, Three Pole, 250kVBIL, 1200(USCO)........ocmrereneerneiiineirerieisneiseiesseesseenees 83
SwtVB3P350-1200(USCO) - Switch, Vertical Break, Three Pole, 350kVBIL, 1200(USCO)........cocmremrnerneieineierineisseiseisessseeseenees 83
SwtVB3P550-1200(USCO) - Switch, Vertical Break, Three Pole, 550kVBIL, 1200(USCO)........cocvrererrernineineierineisneissiessseeseeenees 83
SwtVB3P650-1200(USCO) - Switch, Vertical Break, Three Pole, 650kVBIL, 1200(USCO)........ocmiuremerneiniineierieisseiseisessseeseenees 84
SwtVB3P750-1200(USCO) - Switch, Vertical Break, Three Pole, 750kVBIL, 1200(USCO)........ocrerremerneineiseirerieisseiseisersseeseenees 84
SwtVe1P110-1200(USCO) - Switch, Vee Switch, Single Pole, 110kVBIL, 1200(USCO)........ccmreurreeerereneeserisseeseesessesssessessessennes 84
SwtVe1P150-1200(USCO) - Switch, Vee Switch, Single Pole, 150kVBIL, 1200(USCO).......cccorrriiiieireeineineissiseeeeseesssissseeens 84
SwtVe1P250-1200(USCO) - Switch, Vee Switch, Single Pole, 250kVBIL, 1200(USCO).......ccovrimrerinniineiineeneissiseeseesseesseeeseseens 84
SwtVe1P350-1200(SS) - Switch, Vee Switch, Single Pole, 350KVBIL, 1200(SS)........ccrueriririineineieeinerisessseisesssessssssessssssesesesens 84
SwtVe1P350-1200(USCO) - Switch, Vee Switch, Single Pole, 350kVBIL, 1200(USCO).......cccoeuirmiiineineiineineissiseesessseesseiessseens 85
SwtVe1P550-1200(USCO) - Switch, Vee Switch, Single Pole, 550kVBIL, 1200(USCO).......ccovrmieiirrieiineineissiseissesseesseeessseens 85
SwtVe1P650-1200(USCO) - Switch, Vee Switch, Single Pole, 650kVBIL, 1200(USCO).......ccovrrimreririreeineineissiseisessseesseisssseens 85
SwtVe1P750-1200(SS) - Switch, Vee Switch, Single Pole, 750KVBIL, 1200(SS)........cuerirnineineieeineriseisessesssessesssessesssessesens 85
SwtVe1P750-1200(USCO) - Switch, Vee Switch, Single Pole, 750kVBIL, 1200(USCO).......cccorrirerinrineeineineissiseiseesseesseiseseeens 85
SwtVe3P110-1200(USCO) - Switch, Vee Switch, Three Pole, 110kVBIL, 1200(USCO)........ccriumiiiiiiineineineissiseeeseessisesseseseeenes 85




Index (cont'd)

Unit - Description Page

Section VIl - Switches (cont'd)
SwtVe3P150-1200(USCO) - Switch, Vee Switch, Three Pole, 150KVBIL, 1200(USCO)........cccorurimirnrirrirrininsiseieiessssissesessssesssseees 86
SwtVe3P250-1200(USCO) - Switch, Vee Switch, Three Pole, 250kVBIL, 1200(USCO)........ccorurimirneirririninsiseieissssssssssssssssessssenes 86
SwtVe3P350-1200(USCO) - Switch, Vee Switch, Three Pole, 350kVBIL, 1200(USCO).........ccvrririrneirririninsineiseessssissssesssessssenes 86
SwtVe3P550-1200(USCO) - Switch, Vee Switch, Three Pole, 550KVBIL, 1200(USCO).........cccovurminrirrirrininsineieiesssssssssesssessssenes 86
SwtVe3P650-1200(USCO) - Switch, Vee Switch, Three Pole, 650kVBIL, 1200(USCO).........ccoorrimirneirririninsiseieesssssisssssessssessssenes 86
SwtVe3P750-1200(USCO) - Switch, Vee Switch, Three Pole, 750kVBIL, 1200(USCO).........cccovriminrirrirrininsineieeessssisseseesssessssenes 86
SwtVe4P110-1200(USCO) - Switch, Vee Switch, Four Pole, 110kVBIL, 1200(USCO)........ccoovrrirririnrirriesiesseseisssesessssessssessnenns 87
SwtVe4P150-1200(USCO) - Switch, Vee Switch, Four Pole, 150kVBIL, 1200(USCO)........ccovvrririninrirrieisissiseseesssesessseessssessnenns 87

Section VIII - Distribution
BItCG38X4 - BOlt, CAITIAgE, 3/BXA"....... oottt st 89
BIECGE8XT - BOIt, CAITIAGE, D/8XT"........eee ettt 89
BItDA58X12 - Bolt, DOUDIE AMMING, BIBXA2"..........oeieeieeeieieieeiss ettt 89
BItDA58X14 - Bolt, DOUDIE AMMING, BIBXTA" ...ttt 89
BItDA58X16 - Bolt, DOUDIE AMMING, B/BXTE"..........veieeieeieieisiieete ettt 89
BItDA58X18 - Bolt, DOUDIE ArMING, B/BXT8" ...ttt 89
BItDA58x20 - Bolt, Double Arming, B/BX20"............cu it sssss sttt 90
BItDA58x22 - Bolt, DOUDIE AMMING, BIBX22" ...ttt sttt 90
BItDA58x24 - Bolt, DOUDIE AMMING, BIBX24"............oeoieeeieieieteese ettt 90
BItDU58X10 - Bolt, DOUDIE UPSEL, S/8XT0" ..ottt b st a bbbttt sttt snans 90
BItDUS8X12 - Bolt, DOUDIE UPSEL, BI8XT2".........eeeeeiee ettt sttt bbb s bbbttt bbbttt bbbt 90
BItDUS8X14 - Bolt, DOUDIE UPSEL, BIBXTA".........oo ettt sttt bbb s bbbttt bbbt bbbt 90
BItDUS8X16 - Bolt, DOUDIE UPSEL, BIBXTB ..ottt ettt ettt bbb s bbbttt sttt bbbt 91
BItDUS8X8 - Bolt, DOUDIE UPSEL, BI8X8".........ooieicecteteiee ettt sttt bbb bbb s bbbt s s bbbttt 91
BIEENSS - BOIt, EYE NUL, 5/8" ...ttt 91
BIREYS8X10 = BOIt, EYE, B/BXT0".......eeeeeeiieie sttt 91
BIREYS8X12 = BOIt, EYE, BIBXA2" ...ttt 91
BIREYS8X14 = BOIt, EYE, BIBXTA" ...ttt 91
BIREYS8X16 = BOIt, EYE, BIBXTG"........ooeeeiecie sttt 92
BIREYS8X18 = BOIt, EYE, BIBXT8 ...ttt 92
BIREYS8X8 = BOIt, EY@, BIBXB" ...ttt 92
BILST12X4 - BOIt, LAG SCIEW, T/2XA".........o oottt 92
BItMa58X10 - BOlt, MACKING, 5/BXT0"......... oottt es ettt sttt st s s bt ssss st etss s e bt sssnss s et et se s s et et st ensseet et snnsebasanans 92
BItMa58X12 - BOlt, MACKING, 5/8XT2" ...ttt ettt sttt s sttt sn st stse s e bt st st ss st etse s se b et st ensss et et snsneebasanas 92
BItMa58X14 - BOlt, MACKING, B/BXTA"......... oottt ettt sttt sttt n sttt sn st etss s e bt et ssss st stse s ee b et st snss s et et snsneebassnans 93
BItMa58X16 - BOlt, MACKING, 5/BXTB" ...ttt ettt ee ettt sttt sttt s sttt ss st tse s e bt st snss st etss s et et st enss et et snneebasanans 93
BItMa58X18 - BOlt, MACKING, 5/BXT8"......... ettt ettt sttt b et n sttt ss st ss s e bt stssss st etse s e et et st snsse et et ennsebasanas 93
BItMa58X20 - BOlt, MACKING, 5/BX20".........ooeeeeeereeieeeees ettt es ettt s sttt s sttt e st ss s s st st ssss st etss s e bt stsnss s et et se s ee b et st ensse et et snsnsetassnas 93
BIEMa58X8 - BOIt, MACKING, 5/BX8".......oeeiieeeeeseeecee sttt sttt st e ss bt st s bbbt sb s e bt e s et sn et et ss e s ettt enae b et et sn s e et et snenees 93
BIENED8 = BOIt, NUL, 578" ...ttt sttt b st a sttt b bbb b bbbt sttt es bbb esse b et et es et as et ansntns 93
BrCAABD - Brace, AlIRY A, B0"..........o oottt ettt ss et s s8££ s et n s st en st nnes 94
BICSH26 - BraCe, SraiN, 26".........e ettt sttt sttt sttt ss sttt s e s et e st s st et e s st s s et et st s e e s et st enss e et et st se et et et s ss b et et ssnsesatanas 94
BreWD60 - Brace, WISNDONE, BO"............ouieieeeeeeieesesstststs sttt sttt bbbttt sttt sttt bbbttt bbbttt st et st st st sttt a bt s bt sb et st abatatans 94
CIPANT.A25 - Clamp, ANGIE, 1.125" ...t 94
CIPANT.95 - Clamp, ANGIE, 1.95" ... .ottt E s 94
DedFI2AA - DAAENM, FIEXIDIE, 2AA..........oooeeeeeeeeeeeeee ettt sttt sttt sttt sttt sttt st sttt st st st st st st st st st st st st st st st st st st st sssnsn e, 94
DedFI30AA - Deadend, FIEXIDIE, 3/0AA......... ettt ettt et s et t st s e et b st s s e bt ssensn e et et st s s et et et s s b et et ssnsesatasans 95




Index (cont'd)

Unit - Description Page

Section VIl - Distribution (cont'd)
DedQd33AC - Deadend, QUAM, 33BAC...........oeeeiecee sttt s sttt sttt e s sttt ss sttt s e st et st st ense b et et ss sttt esne et et et en e bt essnnsebna, 95
DedRG2AA - Deadend, RIAGid, 2AA...... ... ettt st s s8££ttt s ettt ntentes 95
DedRg30AA - Deadend, RiAGId, 3/0AA..........oooieeieeieieeissi ettt sttt 95
DedRg33AA - Deadend, RiAGid, 336AA. ...ttt s bRt 95
DedWQ2AA - DEadend, WEAGE, 2AA.........o ettt ettt s st s s8££ e85 £ 8 st s et en st nnes 95
DedWQ33AA - Deadend, WEAGE, 336AA......... ettt sttt st s et s e s et n s st en st 96
DedWQG63AA - Deadend, WEAGE, B3BAA............ ettt ettt ettt ss st b ettt n st se et n s sn s 96
FIGCVSY - Fitting, ClEVIS, SECONUAIY........civuieuiieiieisiieiteeie sttt 96
FtgFGTE18 - Fitting, Fiberglass, TRIMDIE EYE, 18"........... ittt 96
FIGPNATLG - Fiting, Pin, ANCROT, LONG......c.uiiuiiiiieiiiiiieeseiseie ettt 96
FtgPNAISh - Fitting, Pin, ANCNOT, SNACKIE. ..ottt 96
FtgPNFg18 - Fitting, Pin, FIDEIGIASS, 18".........ce et 97
FLOPNPT - FItiNg, PiN, POIE TOP.. .. ettt ettt sttt ss sttt ss st s et s et s et en st ennes 97
FIGPNSa - Fitting, PiN, SAAAIE..........vurieieiieciees ettt 97
FIGPNTX - Fitting, Pin, TraNSTOMMET. ...ttt 97
FgThAd - Fitting, ThIMDIE, AQAPION.........ove ettt ettt n e 97
InsDiPmSt52-4 - Insulator, Distribution, Polymer, Strain, ANSI TR52..........cc.ooriirnnrsssiesssss et ssessss s ssesssssnees 97
InsDiPrDe52-1 - Insulator, Distribution, Porcelain, Deadend, ANSI TR5Z...........ieeeiseesee st sss st esss st esss s ss s 98
InsDiPrPn55-4 - Insulator, Distribution, Porcelain, Pin, ANSI TR55........oiecseeces sttt ss sttt esss st 98
InsDiPrSt52-9 - Insulator, Distribution, Porcelain, Strain, ANSI TR5Z........ccceeeeeee st sre ettt ss st sn sttt 98
InsSdPrSp53-2 - Insulator, Stud, Porcelain, Station Post, ANSI TRB3..........cccceeeeese ettt 98
TrfOHCS25 - Transformer, OVErhead, CSP, 25KVA.........e ettt s ettt st es et ss st n et sn st et snsnees 98
XrmFG10 - Crossarm, FIDEIGIASS, 10'.........oiririeieiireieis ettt 98
XrmFg1P18 - Crossarm, Fiberglass, SiNgle Phase, 18"............ ettt 99
XrmFg2PDe36 - Crossarm, Fiberglass, Two Phase, Deadend, 36"............cccovirininrinrsisinsiss st sssssessnsaes 99
XrmFQ36 - CrosSarm, FIDEIGIASS, 36" ..ottt sttt 99
XrmFQ8 - CrosSarm, FIDEIGIASS, 8'...........cuiiiirieieiecise ettt s 99
XrmFgDe10 - Crossarm, Fiberglass, DEadend, 10'............ocirriieeseseie ettt 99
XrmFgDe8 - Crossarm, Fiberglass, DEAdENT, 8'............cciiieesee ettt 99
XrmWA 10 - CroSSarmM, WOOM, T0'... ...ttt sttt st ss st s s e s e bt s s s s e bt st ssss b b et ss s e et et st s se b et et sn s s et et es s e et es s ensaes 100
XrmWd8 - CrosSarm, WOOM, 8'..........cuvieeeeceecsere ettt esss st sssssssssssssssessssssssssssesssssssssessssessssessssssssssssssessssend Q0

Section IX - Transmission
AssDed63AI-46KkV - Assembly, Deadend, B36AI, 4BKV ..ottt 102
AssDedDP63AI-46kV - Assembly, Deadend, Double Pad, B36AI, 48KV ...ttt sssssesens 102
AssDedOG - Assembly, DEAAENA, OHGW ..ottt 102
AssStrSw4PVe01-21 - Assembly, Structure, Switch, Four Pole, Vee Switch, 15KV, 21".........oeesssse e 102
BktTmCIOG - Bracket, Transmission, Clamp, OHGW.........c.ouunieiecee ettt sttt bbb b bbb s 102
BktTmSnOG - Bracket, Transmission, SUSPENSION, OHGW..............coeieiciiinieiieie ettt bbbt s st ae s 102
BItDA34X12 - Bolt, DOUDIE AMMING, B/AXT2" ...ttt 103
BItDA34x14 - Bolt, DOUDIE AMMING, B/AXTA" ...ttt 103
BItDA34X16 - Bolt, DOUDIE AMMING, B/AXTE" ...ttt 103
BItDA34x18 - Bolt, DOUDIE AMMING, B/AXT8" ...ttt 103
BItDA34x20 - Bolt, DOUbIE ArMING, B/AX20"............ooierierireieiresiseissisisesississ sttt sttt 103
BIEN34 - BOIt, EYE NUL 3/4".........e sttt sttt sttt ensensnssnssessansnsnnssess ] OO
BIREY34XT10 = BOIt, EYE, B/AXT0".......ceoeeeeeciee sttt 104

BIREY3AX12 - BOIt, EYE, 3/AXT2".......ooe ettt 104




Index (cont'd)

Unit - Description Page
Section IX - Transmission (cont'd)
BIREY3AXT4 - BOIt, EYE, B/AXTA" ...ttt 104
BIREY3AXT6 - BOIt, EYE, B/AXTE" ..ottt 104
BIREY34XE - BOIt, EYE, BIAXB" ...ttt 104
BItLN34 - BOIt, LOCKNUL, 3/A" ...ttt sttt ss s sess st st s st s st sessasssssssssesssssssssssnsessssessnsessssessnsesensend O
BItMa34x10 - BOIt, MAChING, 3/4XT0"........ooieeeiieeeeeeeeseete ettt st a st sttt bbbttt bbbt s st s st e s b s s e s e 105
BItMA34X12 = BOIt, MACKING, 3/4XT2" ..ottt sttt b sttt b st sttt b sttt s st s s s s b s s e s e 105
BItMa34xX14 - BOIt, MACKING, 3/AXTA" ..ottt sttt sttt sttt ettt b sttt ettt n b st et b st s e 105
BItMa34X16 - BOIt, MACKING, 3/4XTB" ..ottt sttt b bbbttt sttt b sttt s st s b st s st as e 105
BItMa34x18 - BOIt, MACKING, 3/4XT8" ..ottt sttt bbbt b sttt sttt bbbt s st s st s b s n e s e 105
BItMa34X8 - BOIt, MAChING, 3/4X8".........eeeeeeeeeeeee ettt sttt en st en st sn st s ss st ssnsssesssnnsessssssnssssssssnsnsessssseneed] 0D
BISE34X10 - BOIt, SNOUIAET EYE, 3/AXT0"........ooiieieieeiesise ettt sttt 106
BISE34X12 - BOIt, SNOUIAET EYE, 3/AXT2"........ooeeeeeste ettt 106
BISE34X14 - BOIt, SNOUIAET EYE, S/AXTA ...ttt 106
BISE34X16 - BOIt, SNOUIAET EYE, 3/AXTB" ...ttt 106
BISE34X18 - BOIt, SNOUIAET EYE, 3/AXT8" ...ttt 106
BISE34X8 - BOIt, SNOUIAET EYE, 3/AX8"........ooeeeeieiieeie ettt 106
BIWaACA34 - BOlt, WASNEE, CUIVEA, 34" ..ottt sttt sttt b bt se et et e b s et et stsn s b bt sn s s et e s s eneaes 107
BItWaRA34 - Bolt, WaShEr, ROUNG, 3/4".........ooeeeeeeee ettt sttt sttt ettt n et s s s bt s s s s bt st st sten st et snnens 107
BItWaSq34 - Bolt, WaShET, SQUAIE, 3/4"..........coeiee ettt ettt bbb bbb bbbt es bbbttt 107
BIEWN34 = BOIt, WASHEINUL, 3/4"........oeoeeeeeeeeeee ettt ettt sttt s st se et s s s sttt es s b et et ss s s et et et enss b et st ssneesesasas 107
oL R =T 1o RN o)1 OO 107
ClpTmOG - Clamp, TransmiSSION, OHGW...........c.ciiiiiiiiieieie ettt ettt bbbt bbbt bbb s bbbt es b sbensns 107
DedCm63Al - Deadend, COMPIESSION, B3BAL...........c.ccucueiiiiieiieie ettt bbb bbb bbb b bbbt es b s s bbbt es b s s nas 108
DedCmDP63AI - Deadend, Compression, Double Pad, B3BAL.............ccueeieiciiieieie ettt ses st esaes e ssaesaesans 108
DedOG-46KV - Deadend, OHGW, 4BKV..........ccoeieiiccreeeecee ettt sesss st sssssssssssssssssssssesssssssssssssssssssssssssssessssasssssssssessssesessesed U0
FIGAS - Fitting, ANCROT SRACKIE.........cuuieiiie sttt sttt ssssnssssessnne ] 0O
FIGCVBI - Fitting, CIEVIS, Ball.........ccooereeiieiiciciesceesisstsie sttt sttt sssanssnssnssessansanssnssessansnssned] OO
FIGOVCV = FIttiNg, CIEVIS, CIBVIS.......uvuurieeiriirieie sttt ettt st 108
FIGCVCV@OI0 - FittiNg, ClEVIS, CIBVIS.......cuuveeiieieuieeiieiteis ettt 109
FIGCVEY - FIttiNG, ClBVIS, EY@... .ottt 109
FIGCVEY@90 - FittiNg, CIBVIS, EY... ...ttt 109
FIGHKBI - Fitting, HOOK, Ball........uiieieiieiecisic sttt 109
FIGSOCY - FittiNg, SOCKEL, CIBVIS.......ourvuriieiieiirieisiiesissis ettt sttt 109
FIGSOEY - FIttiNg, SOCKEE, EYE... ...ttt bbb 109
FIGYCBI = Fitting, Y=CIEVIS, Ball...........oieieeieiieieiieiiesisiiesise ettt 110
InsTMLPPmCIBIKV - Insulator, Transmission, Line Post, Polymer, Clamp, B9KV............ccovnrrninieescsese s 110
InsTMLPPmMSn69KV - Insulator, Transmission, Line Post, Polymer, Suspension, 69KV ..o, 110
InsTmStPM161kV - Insulator, Transmission, Strain, POIYMET, 161KV ..ottt 110
INsTmMStPr52-3 - Insulator, Transmission, Strain, Porcelain, ANSI TR52........c.eeceeeseeeeseseeses et s et eses st sssssses s 110
SwtTm1P46kV(Turner) - Switch, Transmission, Single Pole, 46KV(TUMET).......c...ciriieiseeeeie i ssssesssesenes 110

XrmTmDvFg30 - Crossarm, Transmission, Davit, FIDErglass, 30"...........ovrnineesssss st ssssnens 111




